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LANGUAGE: Basad (Bantu (basad as pronounced by native speakers))
Part 3 General details about the strategies
3.1 Marking

3.1.1
As a follow-up to PART ONE and TWO of the present questionnaire, we can deduce that there
are at least four marking strategies for construed interpretations as can be illustrated below:

Basa’a Marking Strategies for coconstrued interpretations

Ma) Marking on a coconstrued argument or adjunct. (E.g., English himself)
Mal) maangéi a- 1n- jé nys-medé;
child SM-Pres-eat PRN.cl1-REFL
‘The/A child eats him/herself’

Mb) Marking on the verb or an auxiliary. (French clitic se, the Bantu reflexive marker)
Mbl) maangé a- m- pit- ba

child SM-Pres-speak/talk-RFM

‘A/The child soliloquizes’ Literally: ‘The child speaks alone (s/he speaks to him/herself)’
Note that the verbal extension -6a which is suffixed to the verbal root pJt ‘speak/talk’ conveys a
reflexive interpretation; that is why I glossed it either as RFM or as ba.
Mb2) mawdndd ma-n- nol- na

friends SM-Pres-laugh-RCM

‘Friends laugh at each other/one another’ i.e. they are mocking at each other/one another’
One thing we have to clear up is whether ba and na are allomorphs or if they are distinct
affixes. If they are separate, then the RCM strategy is another verb-marking strategy like the
RFM strategy. As seen below, the affix when it means ‘reciprocal’ can combine with the mJ
ni mJ strategy.

Idiomatic V-RFM - The following examples with verbs of grooming (verbs which deal with
care of the body like ‘rub’ ‘dress’ ‘shave’ etc.). Keep in mind that when used separately in
another context, the verbal root sas- means ‘clean’ or ‘sweep’ etc. But when associated with the
reflexive -ba the whole verbal complex (root+reflexive) means ‘rub’.
Mb2) maangé a- 1- sas- ba

child SM-Prs-clean-REFL

‘A/The child rubs him/herself’/s/he applies lotion to his/her body’

Another instance of such category changing is attested in Mb3 below whereby the sole verbal
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root hdmb means ‘scratch’ but changes when associated with the reflexive morpheme -6a to
form a new lexical verb namely hdmb-ba ‘shave onself”.
Mb3) hildyd hi- bi-  hdmb-ba yaani
boy  SM-PST2-shave-REFL yesterday
‘The boy shaved himself yesterday’
NB: PST?2 stands for past tense two i.e. a past tense starting from yesterday up to a remote time
in the past.

c) Coconstrual is marked by dropping an argument. (as in English John washed)
Note that in Basad one has to choose either a ‘drop’ strategy or a full NP (reflexive pronoun).
This is explained by the optionality of the reflexive ‘him/herself’.
Mcl) maangéi a- n- ndYSp (nyé-medéi)

child SM-Pres-wash ~ (PRN.3ps+medé€)

‘A/The child washes (him/herself)’
Mc2 maangéi a- 1n-  jé (nyé-medéi)

child  SM-Pres-eat (PRN.3ps+med¢)

‘A/The child eats him/herself’

Md) Coconstrual is signaled by a specialized adjunct. (Such as /’un [’autre in (Y 1)).

This strategy resembles the French one i.e. the one which makes use of the adjunct ‘I’un
I’autre’. As the reader can see the ‘adjunct —like’ expression mJ ni mJ ‘literally each other or one
another’ is used along with special verb morphology (here the use of the marker —na at the right
of the verbal root no/ ‘laugh’. When the verbal extension —na is dropped, the sequence conveys a
different interpretation illicit as in Md2 below where there is no reciprocal meaning. Note that
CONN for ‘connective’.

Mdl) mawdndd ma-n- nol- nd (md ni  m))

friends SM-Pres-laugh-RCM them CONN them

‘Friends laugh at each other/one another’ i.e. they are mocking at each other/one another’
Md2) mawdndd ma-n- nol- (m3 ni  m)j)

friends SM-Pres-laugh them CONN them

Intended: ‘Friends laugh among themselves’/the friends laugh together’ Or ‘Les amis rient

entre eux’ (French translation).
Ken: We need to distinguish three possibilities, namely, RCM alone, mJ ni m3 and RCM, and
m3J ni m3 alone. It seems like mJ ni m3 alone is not inherently reciprocal, but is sociative, i.e.,
activities done together. If so, it is RCM that provides the reciprocal meaning. Then, of course,
we still need to answer whether the RFM/RCM are really different.

3.2 Productivity

3.2.1 How productive is this strategy, with respect to which verbs or predicates allow it? when
you write up this section, indicate that the strategy in question is either extremely productive,
fairly productive, or I am not sure.

The four strategies listed above are given here in turn:

Ma) Marking on a coconstrued argument or adjunct. (E.g., English himself)
Mal) maangéi a- 1n- jé nyé-meds;
child SM-Pres-eat him+medé



‘The/A child eats him/herself’

It appears to be the case that the strategy PRONOUN (accusative)+medé (PRONOUN-REFL)is
more productive than the other ones in the sense that it ‘nearly applies to every verb in the
language. Some verbs include the following:

jowa ‘wash’, ay ‘read’, tila ‘write’ ke ‘go/leave/walk’, j& ‘eat’, nJ ‘drink’, pit ‘speak/talk, sal
‘work’, lamb ‘cook’, gmble ‘hear/listen’, ni}il ‘learn’, hjom ‘stroll/strand’ kwaaye ‘crawl’, yen
‘sit down’, teléF stand up’, [50, gweem ‘hunt’, sdmb ‘buy’, nifya ‘teach’ ot ‘draw’ etc.

Mb) Marking on the verb or an auxiliary. (French clitic se, the Bantu reflexive marker)
Mbl) maangé a- m- pit- ba
child SM-Pres-speak/talk-REFL(ba)
‘A/The child soliloquizes’/speaks alone’
The strategy which makes use of a reflexive suffix (Mbl) is very limited to specific predicates,
such as ‘bathe, wash, dress and the like’ and some other predicate types which have to do with
the body as illustrated below:
(4) a. maangé a- n- h3s-ba lap
child SM-PSTI1-put-REFL lotion made up of palm nuts
The/A child put on lotion/cream on his/her body’
b. maangé a- n-  sép- ba moo
child SM-PSTI-rub-REFL oil
‘A/The child has rubbed his body with oil’
c. maangé¢ a- 1n- koo- bA  malép
child  SM-PST-pour-REFL water
‘A/The child poured water on him/herself’
d. hingonda hi- n- kéY-ba
girl SM- PST1-hurt-REFL
‘The girl hurt herself’

Mcl) maangéi a- n- ndYSp (nyé-medéi)
child SM-Pres-wash  (him/her-REFL)
‘A/The child washes (him/herself)
The null object strategy i.e. Mcl) is also productive but not as the first strategy. For instance, the
null object strategy can be used with verbs of motion (1), of grooming (such as wash’, bathe,
‘dress’ etc. (2) as well as other verbs denoting activities (3), to name only these few.
1) a.maangéa- 1)- kwaaye
child SM-Pres-crawl
‘The/A child crawls(him/herself)’
b. maangé a- 1§- ke
child SM-Pres-walk
‘The/A child walks (him/herself)’
(2 a. maange a- n- ndY5B
child SM-Pres-bathe
‘A/The child bathes (him/herself)’
b. maangé a- n- jowa
child SM-Pres-wash
‘A/The child washes (him/herself)’



3) a. maangé a- n- tila
child  SM-Pres-write
‘A/The child writes (him/herself)
b. maangé a- 6- ldmb
child SM-Pres-cook
‘The/A child cooks (him/herself)’

Mdl) mawdndd ma-n- nol- nd (M3 ni  m)d),
friends SM-Pres-laugh-RCM them CONN them
‘Friends laugh at each other/one another’ i.e. they are mocking at each other/one another’
The reciprocal strategy seems to be the second most productive one after the PRONOUN
(accusative)+tmedé (PRONOUN-REFL) one because it can be used with a wide range of verbs
involving relationship such as ‘greet, love/like’, ‘insult’, ‘hate’ etc. For instance, the following
examples illustrate the reciprocal strategy.
5)a.Malét ni paidi  ba- d- noYl- a
teacher CONN students SM-PRS-get along/on-RCM
‘The teacher and the students get along/on well’
b.mudad ni munlom bd- n- sol- na
woman CONN man SM-PRS-insult-RCM
‘The woman and man insult each other.’
c. hildYd ni hingonda bd 1§- gwés-na
boy CONN girl SM-PRS-love-RCM
“The boy and girl love each other.’
d. hil3Ya ni nsdy bd- m- yeY-na
boy CONN father SM-Pres-greet-RCM
“The boy and his father resemble each other.’

3.2.2 Is the use of this strategy lexically restricted to certain verb classes, or is it unrestricted
(applies across all verb classes)?

As the reader can see, it appears that the reciprocal strategy is restricted to a specific class of
predicates namely the ones which have to do with interpersonal relationship. As for the first
strategy i.e. PRONOUN (accusative)-REFL, it seems to be extended to virtually every class of
predicate. The null object strategy in most cases involves a wide range of verbs. The reflexive
strategy, that is, the one which makes use of specific morphemes encoding reciprocity also
covers a specific class of verb namely verbs with a direct relation with the body.

3.3 Context of Use

3.3.1 How marked or natural is this strategy

In most, if not all cases, none of the strategies delineated above is restricted to specific contexts.
Each of them can be used in every discourse situation with neither stylistic nor pragmatic effects.
However, it is important to mention that the first strategy i.e. PRN (accusative)-REFL can be
used to express emphasis or to mark an element in the discourse as being more prominent or
salient. In this way the marked element (the reflexive) appears to express
contrastiveness/contrastivity or exclusivity.

e.g. Consider the following context whereby speaker B contradicts speaker A by showing that
nobody washed the child, rather, the child washed him/herSELF



Speaker A: Me n- ndY 1¢ mudad a- n- nuY-us maangé
I PSTl-hear that woman SM-PST1-wash-CAUS child
‘I heard that the woman washed the child.’
Speaker B: T), maangéi a- n-  ndYdp nyé-medéi
no child SM-PST1-wash him/her-REFL
‘No, a/the child washes (him/herSELF)’ Intended: Nobody washed the child, HE (child)
washed him/herSELF’
As can be seen above, the reflexive can be used as a focus operator with a contrastive focus
interpretation.
Can the PRN-REFL be fronted for focus or topic? I think we have such an example.

3.3.2 Is special intonation or emphasis necessary, and if so, where (e.g., is it on the morpheme
that constitutes the marker for the strategy or is it a contour on the verb, or perhaps a special
contour for the whole sentence). For example, English has adverbial reflexives which look like
object reflexives except they don’t apply to arguments of the verb, e.g. John did it himSELF,
where upper case indicates stress.

3.3.3 Is a particular discourse context (e.g., contradicting) necessary? For example, it is possible
to get coconstrual of subject and object in English with an object pronoun in special
circumstances, as in B1.
Bla) If Marsha admires just one person, then I suspect that she admires just HER.
b) Marsha thinks I should trust no one but herSELF.

The following context can be considered for Basad:
B2a) liwandd j€ém li- 1)- kdl 1€ me gweés bany mut nampé ndigi nyétama
friend my SM-Pres-say that ] SUBJ.love NEG man other only him/her alone
‘My friend told me to love nobody else but HIM/HER’
Note that in a context such as B2a above, the reflexive nys-meds(him/her-REFL) canbe
perfectly ruled in place of the form nys+tdmd (him/her+ tamd). This latter form (PRONOUN
(accusative+ tdmd ) is interpreted as ‘alone’ in English with an exclusive focus reading.

3.4 Morphology

3.4.1 Does the reflexive element, in its entirety, have a stateable lexical translation? Not
applicable to Basad.

3.4.2 If the term used as a reflexive or reciprocal can be used for a non-reflexive/non-reciprocal
meaning, is it an ordinary noun that can be possessed by other pronouns? Is it some form of
prepositional phrase or adjective? Is there anything further to say about its meaning in such
cases? Not applicable

What about mJ ni m3 construction? That seems to have a sociative meaning, no?

3.4.3 If the reflexive element has clear syntactic and part-of-speech sub-structure (e.g., head and
modifiers, determiners, possessives) show it here.

(a) Agreement features etc.

(b) Does this morpheme have a lexical meaning? Is it clearly or plausibly related to a lexically



contentful word or morpheme? Give details as necessary.
Not applicable =? none of the reflexive or reciprocal morphemes have any independent use or
meaning?

3.5 The agreement paradigm
3.5.1 Give the morphological paradigm of each reflexive strategy.

3.5.2 For each morphological feature, what determines its value? (e.g,, agreement with the
antecedent, or agreement, in the case of possessives in some languages, with the possessed N)

The agreement paradigm in Basad is gender-specific i.e. reflexive pronoun formation
appeals to noun class agreement in the language so much so that there exists a variable apart
which is made up of a pronoun of the accusative form, and an invariable part which is made up
of the med¢ literally translated as ‘SELF’. Given that Basad is a noun class language, to each
noun class corresponds a specific accusative pronoun which combines with the reflexive
med& SELF’ to form the reflexive pronoun.

The following table recapitulates the number of reflexives depending on the noun class.

NOUN CLASS ACCUSATIVE PRONOUN PRONOUN+’REFL’

1 ny¢ ‘him/her’ (+human) nye+med€ ‘him/her+ REFL
2 b5 ‘them’ (+human) b5+medé ‘them+ REFL’
3 wh ‘it (-human) wi+ medé ‘it+ REFL’

4 mJ ‘them’ (-human) mb+medé ‘them+ REFL’
5 35 ‘it (£human) j5+medé ‘it+ REFL’

6 m3j ‘them’ (+human) mj3+med€ ‘them+ REFL’
7 yo ‘it’ (£human) yo+med€ ‘it+ REFL’

8 gw) ‘them’  (fhuman) gwd+medé€ ‘them+ REFL’
9 yo it (-human) yo+medé ‘it+ REFL’

10 y3 ‘them’ (-human) y3+medé ‘them+ REFL
12 tf3 ‘them’ (£human) t/5+medé ‘them+ REFL’
14 w3 ‘it (-human) wi+medé ‘it+ REFL’

19 hy? ‘it’ (£human) hy3d+med¢ ‘it+ REFL’

Note also that apart from the reflexives obtained from noun classes, one also has reflexives
formed from the six accusative personal pronouns used in the conjugation and which denote only
humans as illustrated below. Note also that from the first person plural one has to use the form 65
which is indeed homophonous with the third person accusative 6J ‘them’ followed by the
SELF’part. In the third person plural since the same 6J cannot be repeated in reflexives
formation. In this case we can say that the morpheme 63 denotes plurality.

me ‘Me’ me+medé ‘myself’

we ‘you’ wetmedé  ‘yourself’
ny¢ ‘him/her’ nyé-medé ‘him/herself’
bés ‘us’ bés brtmedé ‘ourself’
bé ‘you’2.PL bé by+medé ‘yourselves’
b5 ‘them’ b3+medé ‘themselves’

3.6 Interaction with verb morphology - Incompatibilities
3.6.1 Tense, Mood, Aspect.




It is sometimes observed that coconstrual strategies are sensitive to the tense, mood or aspect of a
The four strategies already examined do not exhibit any incompatibility to the best of my
knowledge. The following examples show that each of the strategies can be used irrespective of
tense, aspect, mood and the like.
B3a’) maangé a- n- n3Yb- aY (nyé+ medé€)
child SM-PST1-wash-PROG him/her-REFL
‘A/the child was washing (him/herself)’
b. maangé a- n- ldmd ndY56 (nyé+ medé€)
child SM-Pres-should wash him/her-REFL
‘A/The child should wash (him/herself)’
c. maangé a- sas- ba (nyé+ medé)!!
child SM.IMP-rub-REFL  him/herself
‘Let A/The child rub him/herself)
d. mawandd ma- bi- sdol- nd (m3d ni  md)
friends SM- PST2-insult-RCM them CONN them
‘The friends insulted each other/one another’
3.6.2 Grammatical Function (GF)-changing - Consider GF-changing constructions or operations
in your language that affect the argument structure of a verb, adding, promoting, or demoting
arguments.

Like in many Bantu languages, there exists in Basad a good number of verbal extensions,
which, when associated with a verbal root, change the argument structure of the verb. Consider
for instance the paradigm below with the verbs pdr ‘speak/talk’, ndl ’kill’ and gweél
‘catch/arrest/hold/do’.

a) ‘to kill’

Base

n3l kall’

njl-a Kkill’

Reflexivity

njl-ba ‘to kill oneself or to commit suicide’ (reflexive)

Reciprocity njl-na ‘to kill one another/each other’

Causativity

ndl-ha ‘cause/make sth/sb be killed’ OR ndl-ds ‘to cause/make sth/sb be killed’
Applicative

ndl-6l  “kill sb/sth on somebody/something’ or kill sb/sth for some reasons’
Benefactive

nol-61 ‘kill to the advantage of”

A. strategy one: PRONOUN (accusative)+medg
This strategy can be applied to all verbal extensions exhibited above
la) mudad a- ©n- njl *(nyé-mede)
woman SM-Pres-kill her-REFL
‘A/The woman kills herself’
b) mudad a- 1- ndl-bd  (nyé-mede)
woman SM-Pres-kill-RFM her-REFL
‘The woman kills herself’
c) mudad a- 1i- no6l-0s *(nyé-medg)
woman SM-Pres-kill-CAUS her-REFL



‘The woman makes causes herself kill’

d) mudad a- 1n- ndl-ha (nyé-medg)

woman SM-Pres-kill-CAUS her-REFL

‘The woman makes/causes herself kill’
Note that in (d) if the reflexive nyé-medé ‘herself’ is dropped we obtain a causative interpretation
namely ‘the woman causes/makes people/things kill’ which can felicitously include
‘herself’(woman). So here, the meaning is extended to other entities, which is different if the
reflexive is used.
e) mudad a- d- nodl-ol *(nyé-medé) ngopoy

woman SM-Pres-kill-CAUS her-REFL  blackmail

‘The woman makes/causes herself kill because of blackmail’

B. Strategy two: Reciprocal strategy
This strategy is limited to the sole reciprocal morpheme i.e. other verbal extension do not
allow reciprocity.
(2)a.bajp  gwét ba- n- ndl-na (b5 ni b3)
fighters war SM-Pres-kill-RCM them CONN them
‘Warriors kill one another/each other’
C. Strategy three: Reflexive strategy
This involves a reflexive morpheme which is preceded by a verbal root. Other verbal
extensions cannot be used in this strategy.
(3)a. mudaa a- n- ndl-ba
woman  SM-Pres-kill-RFM
‘The woman kills herself’
D. Strategy four: null object
In this context we can use (3a) repeated as (4a), a causative strategy (4b) or a strategy which
consists in using the verbal base in its simple (4c) or extended form (4d).
(4) a. mudad a- 1n- njl-ba
woman  SM-Pres-kill-REFL
‘The woman kills herself’
The null object strategy is only so called if the verb is unaftixed.
b. mudada a- 16- ndl-ha
woman SM-Pres-kill-CAUS
Literally: ‘The woman makes/causes kill’
This is not a reflexive strategy
c. mudaa a- - ndl
woman  SM-Pres-kill
‘The woman kills’
Also not a reflexive strategy (also possible in English)
d. mudaa  a- - njl-4
woman  SM-Pres-kill
‘The woman kills’
Note that both (4c-d) have the same meaning, they only differ in the realization of the final
verbal extension (which is absent in 4c and explicit in 4d).



‘to speak/talk’
Base
pit ‘speak/talk
Dative
pod-Js ‘speak/talk to sb’
Causative
pod-ha make/cause someone speak’
Oblique
pod-dl ‘talk about’
Benefactive
pod-he ° talk to someone for somebody’
Reciprocal
pod-ha ‘talk to each other/one another’
. Causative
pdd-ha ‘to make/cause someone speak’
Reflexive
pit-ba  ‘soliloquize/talk to oneself”
. Strategy one: PRONOUN+medé ‘Pronoun-REFL’
This can apply to all extensions exhibited above.
(5) a. Maangé a- ni- pit nyé-med€
child SM-Pres-speak/talk him/her-REFL
“The child speaks him/herself’
b. Maaggé a- mni- pod-Js nye-medé
child SM-Pres-speak/talk-DAT him/her-REFL
‘The child talks to him/herself’
c. Maangé a- m- po6d-ha nyé-med€
child SM- Pres-speak/talk-CAUS him/her-REFL
‘The child makes/causes him/herself speak’
d. Maangé a- ni- po6d-ol nyé-med€
child SM-Pres-speak/talk-OBL him/her-REFL
‘The child speaks about him/herself’
e. Maaggéi a- mni- pod-hé mawandd mé malét;  nyé-medéi/;
child SM-Pres-speak/talk-OBL friends his/her teacher  him/her-REFL
“The child talks for his friends to the teacher him/herself’
As can be seen from the glosses in (5¢), coreference can be felicitously attested either between
the subject NP maangs ‘child’ and the reflexive or between the indirect object NP malet;
‘teacher’ and the reflexive.

OROZEZCARTSIOTEONT R

f. baudd  bd- m- pod- hd bBb3-medé
students SM-Pres-speak-RCM them+selves
‘The students talk to each other/one another’
g. baudd  b6d- m- pod- ha bH3-medé
students SM-Pres-speak-RCM them+selves
‘The students make/cause themselves talk/cause each other/one another talk’



Note that (5f-g) make use of the same verbal extension —ka but with two different interpretations
namely reciprocity and causativity.
h. maangé a- m- pit- ba (nyémedé/ ny¢-tama)
child  SM-Pres-speak/talk-REFL PRN.c1-REFL him/her+alone
‘The child speaks alone/soliloquizes/soliloquizes him/herself’
R. Strategy two: Reciprocal morpheme

This is limited to the sole reciprocal morpheme i.e. other verbal extensions are not licensed.

(6) boopngé bd- mi- pod- ha (b3 ni 63)
children SM-Pres-speak-RCM (them CONN them)
‘The children talk to each other/one another’
S. Strategy three: REFLEXIVITY
This is limited to the reflexive morpheme as can be seen below.

(7) maangé a- m- pit- ba
child  SM-Pres-speak-REFL
‘The child soliloquizes’/talks to him/herself’
T. Strategy four: Null object
This can be used in the following contexts
(8) a. maangé a- m- pit Simple verbal base
child SM-Pres-speak/talk
‘The child talks/speaks (himself)’
b. baidd bd- m- pod- hd Causativity
students SM-Pres-speak/talk-CAUS
‘The students make/cause (people) talk’
¢. mawandd ma-m- péd- ha Reciprocity
friends SM-Pres-speak/talk-RCM
‘Friends talk to each other/one another’
The following ungrammatical sentences show that dative, oblique, and benefactive
constructions do not allow the null object strategy.

(9) a.* mawdndd ma-m- p6d-0s Oblique
friends SM-Pres-speak/talk-OBL
b. *mawdndd ma-m- pad-6l Dative

friends  SM- Pres-speak/talk-DAT

c.*mawandd ma- m- péd-  he Benefactive
friends SM- Pres-speak/talk-Ben

3.6.3 (formerly 3.6.1) If you are aware of operations or morphemes that cannot co-occur with
this strategy, then list them here, providing an example and a brief statement of what the
incompatible morphemes or constructions are. So for example, if your language distinguishes
accusative case from dative case, is one or the other case exclusively compatible or incompatible
with a particular strategy?

In other words, oblique, dative and benefactive constructions are incompatible with the null
object strategy as the ungrammaticality in (9) show it.
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3.7 Uses that are not quite coreference

3.7.1 Idiosyncratic or inherent. Some languages have verbs that lexically require a reflexive
which does not appear to correspond to an argument.

It is important to note that in Basad there is a class of verbs which inherently denote reflexivity.
These verbs may use locative adjuncts or expressions as illustrated below.

(10)a. maangé a- m- Homla @ noy)
child SM-PSTI1-stumble LOC stone/stone)
‘The child stumbled against a rock/stone’
b. maangé a- n-  1€Yy-ba (i w23)
child  SM-PSTI-burn-RFM? LOC hand
“The child burns him/herself’
c. maangé a- 1n-  kooY-a  (hilémb)
child SM- PST1-bite-RFM? tongue
‘The child bite himself on the tongue’
d. mudad a- n- nit-ba
woman SM-PST1-commit suicide-RFM
‘The woman committed suicide’
Note also that apart from (10a) other verbs require a reflexive morpheme which can be either of
the form CV (consonant-vowel) or V (vowel).

3.7.2 Emphatic or intensifier. As in the English, The president himself answered the phone.

Your language may also have forms that require a local antecedent but seem to indicate a
relationship with an antecedent that stresses how a particular participant related to an event. We
see this with constructions in English like (Blc,d)

Blc) John ate fish himself.
d) John himself ate fish.

Please translate (Blc,d). Which of the readings below are permitted? (English adverbial
reflexives permit readings (C) and (D), but other languages permit (A) and (D) with forms that
seem more like English himself than English alone.)

A) John alone did this - i.e., only John and no other individuals did this.

B) John did this alone - John was unaccompanied when he did this.

C) John himself did this - John appearing in person did this (no one did it for him)

D) John himself did this - Even John did this (e.g. Although you would not have thought he

would, John also ate the crispy jellyfish)

In Basad it is possible to translate (Blc,d) using the reflexive form PROUNOUN (accusative)
+med€ ‘pronoun-REFL’ the ‘focus-sensitive particle PROUNOUN (accusative)+tama which can
literally mean ‘alone’
First of all (Blc,d) can be translated as follows. While only readings C and D are attested with
the form PRONOUN-REFL i.e. Ble-f, one obtains A, B, C, and D altogether with the form
PRONOUN-+tdmad in B1g-h.
Ble) Yohdnes a- bi- jé¢ hj3pi nyé-medé

John  SM-PST2-eat fish PRN.cI-REFL

‘John eats fish himself/John himself eats fish’
f) Yohdnes nyé-medé a- bi- jé hjspi
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John PRN.c1-REFL SM-PST2-eat fish
‘John eats fish himself’/John himself eats fish’

g) Yohdnes a- bi- jé hj5pi nyé+tama
John SM-PST2-eat fish him+tdmad
‘John eats fish himself/John himself eats fish’
a) Yohdnes nyé+tama a- bi- j€ hjspi
John him+tdmd SM- PST2-eat fish
‘John eats fish himself/John himself eats fish’

3.7.3 Middle. The argument structure of the verb is changed into a form that has an explicit
patient, but no agent is present and an agent may or may not be implied.

It is possible to get such structures in Basad as the following examples show it. Note that in (1a)
and (Ic) the reflexive morpheme is realized while it is not so with (1b). As can be seen, the
reflexive pronouns are optional. Considering that sentences below have only one participant
agent, we consider them as involving reflexive passives in the sense that the agent itself can be
considered as patient at the same time.

(1) a. Matfe€¢ ma-kéy -i  (md+med€)

eggs SM-hatch/open out-ACAUS PRN.c2-REFL
‘Eggs hatch/open out themselves’
b.tomblo { mni- bHdo (yo+med€)

glass SM-Pres-break it-REFL

‘The glass breaks itself”
c. pds - n- tif- 1  (yo+medé)

bottle SM-PST1-pierce-REFL it-REFL

‘The bottle pierced itself” (“sprang a leak™)

3.7.4 Distributive, sociative, etc. Some strategies (reciprocal markers most frequently) can also
be used to mean that some action was performed separately, or jointly, or repeatedly, etc. You
should only report uses that do not involve coconstrual between two logical arguments.

Note applicable to the present state of my knowledge

3.7.5 Deictic use - If the current strategy involves a nominal form (e.g., English himself) Can
this form be used when the antecedent is physically present or otherwise prominent, but has not
been mentioned (such that X does not refer to Bill or Mary)? (Suggest a context if necessary).

B5a) Bill did not see X
b) Does Mary like X?
¢) X went to the bank yesterday.
Note applicable or better still is difficult to find out

Can this form be used to refer to one of the participants in the conversation who is not otherwise
mentioned in that sentence?

B6a) Bill insulted X. (X = speaker, X = addressee)
b) Many people do not like anchovies, but X likes them.
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(X = speaker, X = addressee)
Not applicable

Can the form in question be used in a sense like that of English generic one Or is there a
meaning that means "arbitrary person". There are otherwise local anaphors in Hindi, for
example, that can have the latter usage.

B7a) I don't like the way he speaks to one.
b) One cannot be too careful
¢) Bill insults one before one can say a word.
Not applicable

3.7.6 Focus.
Please translate these question-answer pairs. (Numbers are out of sequence here for a reason)
B15) Who did the farmers see?
Njéé basdl hisi bd- n- téhé
who workers land SM-PST1-see
‘Who did the farmers see?’
They saw him.
(basal  hisi) bd-n-t€hé nyé
workers land SM-PST1-see him/her
‘They saw him/her
Note that Basad is pro-drop and that is why the subject basal hisi ‘farmers’ can be dropped
together since it can be semantically recovered by the subject marker (SM). The fact that the
subject ‘farmers’ is known in the discourse is explained by the fact that it may be dropped
altogether (see parentheses).

(For example, the children are playing hide and seek in the yard, four girls and one boy, John.
The farmers entered the yard but they only saw John).
B16) The farmers didn’t see Mary. They saw him.
In this case one obtains a contrastive focus reading as illustrated below.
1) a.(basal  hisi) bd n- téhé béé Maariya, nyé-n ba- n- téhé
workers land SM-PST1-see NEG Mary HIM-FOC SM-PST-see
‘The farmers didn’t see Mary, they saw HIM (referring to John)’
Note that since the pronoun nye corefers with both male and female, (1a) is correct if and only if
‘John’ has been mentioned in a previous discourse. Note that there is homophony between
agreeing morphemes and accusative pronominal in Basad so much so that instead of glossing the
complex ‘Nyé-n’ as HIM/HER-FOC(us), one can also gloss it as AGR(reement)-FOC(us) where
AGR stands for noun class agreement.
In the following example, we see that we obtain a focus-drop construction if the focalized
noun/element has known in the discourse.
Context: Speaker A: men-  ndY l€ malét a- n-  téhé baudu
I PST1-hear that teacher SM-PST1-see students
‘I heard that the teacher saw the students’
Speaker B: mhm, (baudua) b3- n (malét) a- n- téh€
yes, students AGR/THEM-FOC teacher SM-PST1-see
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“Yes, it is them that he (the teacher) saw/yes, he (the teacher) saw THEM’
As the reader can see, there is a mismatch between the agreeing morpheme 6J- and the
accusative pronoun 63 ‘them’. The nominal in parentheses are optional, i.e. they can be dropped
when already known in the context.

3.7.7 Other. Are there other ways to use the strategy that do not express coreference (or
reciprocal coreference) between two arguments? If so, give examples and a brief explanation
here.

3.8 Proxy readings

One interpretation that the choice of coreferent strategy is sometimes sensitive to is proxy
interpretation. A proxy reading is one where the coreferent argument is understood as a
representation of or a "stand in" for the reference of the antecedent. This is often the case with
statues, for example, or authors (e.g., Grisham) and their work. Feel free to substitute your
favorite national author for Grisham.

B8a) Castro admired himself in the wax museum. (himself = statue of Castro)
b) Grisham has not read himself in Swahili, though he has read himself in
Spanish. (himself = Grisham's writings)

In Basad it is possible to get proxy readings as can be seen below, where Um Nyof3€, a famous
Cameroonian martyr went to the museum and had a look at his own picture. Here the reflexive
‘himself”’ is optional.

B8c) Um Nyofé a- bi- béng- bd (nyé-medé)
Um Nyof¢ SM-PST2-watch-REFL PRN.c1-REFL
‘Um Nyo€ watched himself”
The differences emerge in English for cases like those in (B9). Imagine that the wax museum is
having a special event, which the wax statues of each celebrity will be washed and dressed by the
celebrity they represent.

B9a) Castro washed himself carefully, so as not to damage the wax.
b) Castro washed carefully, so as not to damage the wax.
¢) The movie star dressed herself carefully, so as not to damage the wax.
d) The movie star dressed carefully, so as not to damage the wax.
e) Castro saw himself in the show, but he didn't like what he saw.

Test for proxy readings in your language and see if there are instances where they are
possible and others where they are not.

B10a) Grisham says he sounds better in Swabhili. (where he = Grisham's writings)

b) Castro thought that he looked handsome. (he = statue of Castro)
The following examples illustrate proxy readings in the language.
Blla) *Bikokoo a- bi- jod- ba nyé-medé€ldngé

Bikokd6 SM-PST2-wash-REFL PRN.c1-REFL  carefully
Intended: Bikokdo washed himself carefully’
b). Nt6f tfembi a- bi- eng- bd  Idngé nyé-medé
singer songs SM-PST2-dress-REFL carefully him/her-REFL
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‘The singer dressed him/herself carefully’
c). Nt6f tfembi a- bi- eng nyé-medé 13nge
singer  songs SM-PST2-dress him/her-REFL carefully
‘The singer dressed carefully’
d). Bikok66 a- bi- téé-ba (nyé-medé) {1  pkud bititif
Bikokdo SM-PST2-see-REFL ~ PRN.c1-REFL LOC box pictures
‘Bikokdo saw himself on TV’
e). Bikokd6 a- bi- téé nyé-medé 1  pkuud bititii
Bikokdo SM-PST2-see PRN.c1-REFL LOC box pictures
‘Bikokdo saw himself on TV’

Note that a proxy reading is not possible with a verb like jowa ‘wash’ in the language. However,
as can be seen in (Bb-e), proxy readings are possible with verbs such as gng ‘dress’ and thé
(inflected in Bllas te€) ‘see’. Note also that (B11b) does not convey a proxy reading per se. So
the only reading possible here is that ‘the singer dressed her own person, but not his statue’. In
(Bllc) the idea is that either ‘the singer dressed his/her own person’ or ‘he/she dressed her
statue’. In (B11d-) two readings are possible. First of all, ‘Bikokdd saw himself (reflexivity)’ or
‘Bikokdd saw his statue’. Sentence (Blle) conveys the same interpretations as (B11d). The only
difference is that in (B11d) there is a reflexive morpheme -64 and an optional reflexive pronoun
namely ‘himself’ at the same time. Also, note that (B11d) can convey the interpretation
according to which ‘Bikokd6 was seen by other people’. In this case we obtain a passive reading
even if there is no explicit by-phrase containing an agent. A passive reading in this case will be
introduced by the same verbal extension -6a” which is right attached to the verbal root. So the
idea is that there is a sort of homophony between the passive and reflexive morphemes.

Proxy readings do not require locality, so cases like B11a-b are also possible in Basaa.
Blla). Tonyé ai- §- kal 1€ a- rh- pot ndigi maliYa
Tonye SM-Pres-say that he/SM-Pres-speak/talk only truth
‘Tonyé; says that he; tells only the truth (in his writing for instance)’

b). NtodYei ai- bi- hdndl 1€ ai- ye nlam nganday

NtooYe SM-PST2-think that SM/he-be nice/handsome  very

‘NtojdYei thought that he; was very handsome’
Note that we gloss the morpheme a- either as a subject marker (SM) or a pronoun ‘he’ because of
the homophony between the two in the language. This says, the SM bears person, gender and
number features of the subject even in a long-distance relationship.
Provide both local and long distance examples with gloss and translation of proxy readings. If
proxy readings seem difficult for you to get just say so, and if you find that you need to
transform the examples in some way to get the right interpretation, feel free to do so, but then be
extra careful about gloss and translation.

Proxy readings are also possible for reciprocals in many languages. For (Blla), once

again the antecedents are the authors and each other describes the works these authors have
written, such that Mark Twain did not read Victor Hugo's novels in Swabhili and Victor Hugo did
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not read Mark Twain's novels in Berber. For (B11b), imagine a show where there are actors
masquerading as our two protagonists. The first each other refers to the person Marlene and
Castro, but the second each other refers to the actors (or statues) representing them on the stage
or in the show.

B11a) Mark Twain and Victor Hugo did not read each other in Berber.
b) Marlene and Castro did not see each other in the audience, but they did see each
other on the stage/in the show.
The following examples illustrate the two cases in Basad. First in (B11c) both Yetnd and Bikin
are writers. The case in (B11c) shows that both authors did not read each other.
Bllc) Yetnani  Bikun ba- bi- én- ba  béé
Y. CONN B. SM-PST2-read-RCM NEG
“Yetnd and Bikun did not read each other’
c) Ewasni Hjol bd-bi- téh-nd bée { pgand,
E. CONNH. SM-PST2-see-RCM NEG LOC party
ndi ba- bi- téé-ba i leman
but SM/they-PST2-see-PASS.RCM LOC screen/mirror

Ewas and Hjol not see each other at the party, but they did see each other on the screen TV.’

As the reader can see, the verbal root for ‘see’ is not stable i.e. it varies depending on the verbal
extension attached to it. It is the reason why in Bllc, it realizes as t&h when attached to a
reciprocal and as fee”when it gets attached to a ‘reciprocal passive’. By ‘reciprocal passive’ here
it is meant the fact that Ewas was seen by Hyol and Hyol by Ewas. So I assumed that each of
them is seen by the other in a reciprocal manner.

3.9 Ellipsis
Consider the following examples, which all have an ellipsis of one sort or another. In
(B12), there is missing structure that is parallel or identical to stated structure and it is interpreted
as if it is there.

B12a) Sherman likes/praises himself more than Bill
b) Sherman likes/praises himself more than Bill does

English permits both of these, though I suspect (B12b) may not be as widely available as (B12a).
If not, then concentrate on (B12a). The following readings, where the Italicized portions are what
is missing for (B12a,b) but can be interpreted as if it was there (which is what is meant here by
‘ellipsis’)

1. Sherman likes/praises himself more than Sherman likes Bill.

ii. Sherman likes/praises himself more than Bill /ikes him (=Sherman).

iii. Sherman likes/praises himself more than Bill likes himself.

Please try to formulate sentences like those in (B12a) (an/or B12b, if that is possible) trying out
each of the non-reciprocal strategies in the first clause and determining for each strategy which
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of the readings i-iii. are possible. If you have several strategies in your language, then we expect
you will have many examples as translations of (12a,b) for whatever verb works with the
strategy in question. Please adjust the examples to use appropriate verbs for the strategy you are
testing, and if there are generalizations about which verbs go with which strategies more
successfully, that would be very interesting to know. Remember to try both affixal and argument
anaphor strategies, if your language has both.

Let us consider the following example and its different meanings.

Bl12c) Ewas a- 1- gwés nyémedé i 100 Hjol
E. SM-Pres-love/like PRN.c1-REFL INF surpass H
‘Ewas likes himself more than Hjol’
The sentence in B12c¢ is ambiguous in four ways and can have the following interpretations:
B12d). Ewasi likes himselfi more He; (Ewas) likes Hjol;
e). Ewas; likes himself; more than Hjol; likes Aim; (Ewas)
). Ewas; likes himself; more than he; (Ewas) likes Hjol;
g). Ewas; likes himself; more than Hjol; likes himself;

The affixal strategy does not trigger any ambiguity i.e. a sentence like B12h below has only one-
way interpretation namely that ‘Ewas; likes himself; more than Hjol; likes himself;?
B12h). Ewas a- 13- gwés-ba i 1o Hjol
E.  SM-Pres-like-REFL INF surpass Hjol
‘Ewas; likes himself; more than Hjol; likes himself;’
NB: Note INF above stands for infinitive (the infinitive particle like the English ‘to”)
PART 4 Exploration of syntactic domains

This section is more exploratory than the preceding ones, and so we rely more on your
linguistic expertise and your sense of what we are looking for in the pattern of anaphora in your
language. Soliciting examples for all possible combinations of syntactic factors would be a
prohibitive task. We present selected combinations of syntactic factors and ask you be on the
lookout for any significant interactions between these factors and the strategies they allow, such
as distance from the antecedent, type of antecedent, and some details of interpretation. Some of
the information asked for here will be redundant with respect to earlier information, but please
bear with us, as we are establishing broader paradigms of what is possible for each strategy.
Please read these instructions carefully, and return to them if unclear about how to handle a
question.

In this section you will be asked to construct a variety of sentence types and test their
acceptability. In typical cases, an English sentence will be provided as a guide with one argument
marked "X" and the X argument is to be construed as coreferent with some other designated
argument (e.g., X = John). When you are asked to provide a reciprocal example, change John to
some plural subject of the form John and Bill or the boys or the girls, but do not use other sorts
of subjects unless you are instructed to do so (we are avoiding certain kinds of complications that
arise with quantified subjects that we will ask about separately below).

To show how we would like you to proceed in this section, we begin with a relatively
simple elicitation. Construct a relatively simple transitive sentence, such as John hit Bill,
providing gloss and translation. Now use each coreference strategy in your list to change the
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sentence you constructed into a reflexive. For example, for a sentence like John hit X where X is
John, try each strategy and determine whether or not the outcome is successful for a reflexive or
reciprocal reading. For English, we might describe four strategies as IMPLICIT, X-SELF,
EACH-O and O-another (one another) as well as the pronominal strategy which, in English, does
not normally work for coargument coreference. As a native English speaker, I might respond as
follows.

Xla)*John hit.
b) John hit himself.
¢)*The boys hit.
d) The boys hit each other.
e) The boys hit one another.
f)*John hit him

Remarks: Example (XIc) is not possible with any interpretation, reciprocal or reflexive. The
IMPLICIT strategy is limited to certain verb classes, as mentioned in section 2.1.3.

The following cases are attested in Basad.
X1g) * Yohdnes a- bi- béR
John SM-PST2-hit
“*John hit’

h) Yohdnesa- bi- b6EB nyé-medé
John SM-PST2-hit PRN.c1-REFL
‘John hit himself’
i) Yohdnes a- bi- BéBR-ba (nyé-medé) NB: The anaphor is optional
John SM-PST2-hit-REFL PRN.c1-REFL
‘John hit himself’
j) *baudu  ba- bi- bHER
students SM-PST2-hit
“*The students hit’
k) baudd  bd- bi- béB-na (b3 ni  b63) NB: The anaphor is optional
students SM-PST2-hit-RCM them CONN them
‘The students hit each other/one another’
1) baudd  ba- bi- BéBR-ba (b3+medé) NB: The anaphor is optional
students SM-PST2-hit-REFL PRN.c2-REFL
‘The students hit themselves i.e. each student of the group hit himself’
m) Yohdnes; a- bi- 6B nyéj/«
John SM-PST2-hit him
‘John; hit himj/+’

NB: Like in English, Coreference is not possible between Yohdnes; ‘John’ and the
pronoun ny¢ ‘him’
Now suppose that the verb chosen had been wash. As a native English speaker, I might respond
as follows.
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X2a) John washed.
X2a’ Yohdnes a- bi- ndY5B
John SM-PST2-wash
‘John washed’
b) John washed himself.
X2b’ Yohdnes a- bi- ndY5B nyé-medé
John ~ SM-PST2-wash PRN.c1-REFL
‘John washed himself”
c¢) The boys washed.
X2¢’ baddd bd- bi- ndY5B
students SM-PST2-wash
‘The students washed’

d) The boys washed each other.
Note that this interpretation is only possible in the presence of a reciprocal morpheme as attested
X2d”.

X2d’ baudud bd- bi- ndY5B
students SM-PST2-wash
‘The students washed themselves’
X2d” paddu ba- bi- nOYb-a- ha  NB: EPTH stands for epenthetic
students SM-PST2-wash-EPTH-RCM
‘The students washed one another/each other’
e) The boys washed one another. (see X2d” above)
f)*John washed him.
X2f” Yohdnesi a- bi- nuY-as nyé€j/s
John SM-PST2-wash-CAUS
‘John washed him /made him clean’
Here again, coreference between Yohanes ‘John and nyg ‘him’ is not possible as the indexes
show it.

Remarks: Examples (X2a) and (X2b) contrast, although the difference is unclear to me. You
could say John washed himself clean, but not *John washed clean. I am not sure why. Example
(X2c) can have a reflexive interpretation like (X2a), but (X2a) is * if it is intended to have a
reciprocal reading like (X2d) or (X2e). The implicit (null) strategy, as mentioned in section 2.1.3,
is limited to verbs of grooming, etc., so I will not test it further with verbs it is not compatible
with.

Now suppose the example is constructed as follows, where what we are seeking to test is
whether or not the possessive of an argument of the main predicate (verb in this case) can be
represented by one of the coreference strategies that we have identified as holding between
coarguments.

X3a)*John saw himself's mother.
X3a’ Yohdnesi a- bi- téhé panj/; (wéi) nyé-medéi/;
John SM-PST2-see mother his;i  him/her-REFL
‘John himself saw his mother /John saw his own mother/John saw his mother (his mother in
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person) i.e. herself
Note that in X3a’ the possessive wé (his) is optional because we have an instance of inherent
possession. Also, it is possible to get coreference between the possessive and another NP known
in the discourse (see co-indexation).
When the pronoun is not present, is it still possible to have a discourse antecedent?
b)*John washed mother,
X3b’ Yohadnesi a- bi- nuY-as  pani/;
John  SM-PST2-wash-CAUS mother
‘John; washed hisi/j mother’
c)?John and Bill saw each other's mother.
X3¢’ [Yohdnes ni Padolo]i ba- bi- téé-nd bdpan; (bapi)
John  CONN Paul SM-PST2-see-RCM mothers their
‘John and Paul saw each other’s mother’ *John and Paul saw one another’s mother’
What do you take to be the difference between these two translations?

d)?*John and Bill saw one another's mother. (see the illicit in red above in X3c’)
e) John and Bill saw their mother.
X3e’ [Yohdnes ni Padolo]i ba- bi- téhé banan; (bapi)
John CONN Paul SM-PST2-see mother their
f) John washed/saw his mother.
X3f” Yohdnesi a- bi- nuY-ds  pani/j (see also X3b’ above)
John SM-PST2-wash-CAUS mother
‘John; washed hisi/j mother’

4.1 Clausemate coconstrual
4.1.1 Verb class restrictions

4.1.1.1 Canonical transitives - Can this strategy be used with ordinary transitive verbs, such as
the verb meaning "see"? Give some examples, including the following.
If X stands for another name different from ‘Bob’ for instance, then the following sentences can
be considered. But, if not, please let me know e.g. if X stands for an anaphor).
Cla) Bob saw X.
Cla’Bikun a- bi- téhé€ Hjjl
B. SM-PST2-see H
‘Bikun saw Hjal’
b) The women described X. (difficult to provide an equivalent for ‘describe’ in Basad)

¢) You(pl.) kicked X.
Clc’) Ni bi-bép Hj3l koo
you(pl.) PST2-hit H. foot
“You kicked Hjal’
NB: The verb ‘kick’ in Basad is complex and is made up of three entities namely the verb 6¢f
‘hit” an indirect object (e.g someone/something (here Hj3l) and a direct object (here koo ‘foot”).
This is close to the French ‘donner un coup de pied’ ‘to kick’.
d) They praised X
Cd’ bd bi- beéYés Hjsl’
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they PST2-praise H.
‘They praised Hj3l’
4.1.1.2 Commonly reflexive predicates - Can this strategy be used with verbs of grooming,

inalienable-possession objects, etc? Give judgements on the following. Provide some additional
examples of your own.

C3a) Donna washed X. (X = Donna)
C3a’** Donna a- bi- nuY-Gs Donna
Donna SM-PST2-wash-CAUS Donna
**  ‘Donna washed Donna’
b) Don cut X's hair. (X = Don).

C3b’ ** Donna a- bi- kit tfon tfi Donna NB: GEN stands for genitive
Donna SM-PST2-cut hair GEN Donna
“**Donna cut Donna’s hair’

c¢) The girl cut X [unintentionally] (X = the girl)
C3c’ **hingonda hi- kit hingonda

girl SM-cut girl

“**The girl cut the girl’

4.1.1.3 Psychological predicates. Please provide examples for verbs like those below, even if

nothing exact seems appropriate for the current strategy, marking them according to the level of
their acceptability based on the scale given above.

C4a) John hates/fears X
C4a’**Yohdnes a- 17- 00 Yohdnes
John  SM-Pres-hate John
“**John hates John’
C4a” Yohdnes a- 1)- 20- (ba) (nyé-mede)
John  SM-Pres-hate-REFL. PRN.cI-REFL
‘John hates himself’
C42’” Yohdnes;a- 1- 20 puaud yéi/j
John SM-Pres-hate body hisi/;
‘John hates himself/Literally: John hates his body’
Note that in C4a” the reflexive morpheme and the anaphor are optional without any change of
the meaning of the sentence. Note also that the sentences above are licit (except C4a’) because
the verb is ‘hate’. However if the verb is ‘fear’, only the equivalent of C4a’’ is correct as can be
seen in C4””. Note that the verb ‘fear’or ‘be afraid’ in Basad is the complex kon wopi.

C42’” Yohdnes; a- 1§-kon  naad yéi/; woni
John SM-Pres-be sick body hisi/j fear ( fear as a noun)
‘John is afraid of himself”
b) John is ashamed of X
C4b’ Yohdnes; a- 1§- w3)pad yéi/; nud OR
John SM-Pres-die body his body
‘John is ashamed of himself’Lit: ‘John is ashamed of his own body’

21



C4b” Yohdnes; a- 1)- w) nyé-medé puu
‘John is ashamed of himself’
Note that ‘to be ashamed’ means w3 nui but which means literally ‘die body".
¢) John is worried about X
C4c’ Yohdnes a- n- ton- ba OR
John SM-Pres-worry-REFL
‘John is worried about himself’
C4c” Yohdnes; a- 1- ton puu yéi/; (nyé-medéi/j)
John SM-Pres-worry body his  him/her-REFL
‘John is worried about himself”
d) John is proud of X
C4d’ Yohdnesia ye-ne nyé+ medéi/j maséé
John  SM-be-OBL him/her-REFL  happiness
‘John is proud of himself”
C4d” Yohdnesia ye maséé ni nyé+ medéi/j
John SM-be happiness CONN him/her-REFL
‘John is proud of himself’
C4d’” Yohdnesia ye-ne nuu  yéi/j maséé
John SM-be-OBL body his/her happiness
‘John is proud of himself’
e) John worries/troubles/pleases X
C4e’ Yohdnesia- 1- tengd nyé-medéi  OR
John SM-Pres-trouble him/her-REFL
‘John troubles himself’
C4e” Yohdnes; a- - tepgd nud yéi/; nye-medei/;
John SM-Pres-trouble body his/her him/her-REFL
‘John troubles himself” Literally: John; troubles hisi/j body’
With the verb ‘please’ we have the following examples:
C4e’” Yohdnesi a- 16- 1émél nye-medési/; OR
John SM-Pres-please him/her-REFL
‘John pleases himself’
C4e”” Yohdnes; a- 1- 1émél pud yéi/; (nyé-medési/j)
John SM-Pres-please body his/her him/her-REFL
‘John pleases himself” Literally: John pleases his body’
4.1.1.4 Creation and destruction predicates. Provide examples in addition to (C5) using verbs of

nn

creation (e.g., "sew", "make", "form") or destruction (e.g. "kill", "eliminate", "make disappear").

C5a) The women will destroy X
C5a’ bodadi ba- gd-  tfé- nd  b3+medéi
women SM-FUT2-destroy-RCM  PRN.c2-REFL
‘The women will destroy each other/one another’
C5a” bodad; bd- gd-  tfé b5+ medé;
woman SM-FUT2-destroy PRN.c2-REFL
‘The women will destroy themselves’
C5a’’bodad; bd- gd-  tfi- Bd b3+medéi
women SM-FUT2-destroy-PASS PRN.c2-REFL
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‘The women will make themselves destroy’

Note that the verb ‘destroy’ in Basad is £/ (see C5a’ and C5a”) but when combined with a
passive morpheme, it may change as in C5a’” where it is realized as £/
b) The machines built X (X = themselves)
Cb’) Bikeyi bi- )- uu- ba ni gwi+tmedéi
machines SM- Pres-make-PASS/REC/REFL CONN (by) PRN.c2-REFL
‘The machines make themselves/each other/one another’ OR the machines are made by
themselves’

Note that the verbal extension -6a"in Cb’ above is multifunctional in that it can convey passive,
reciprocal and/or reflexive interpretation(s). This is what we are re-examining — the reciprocal
reading in Cb’ may be pragmatically available because machines of this kind can make other
machines of this kind, but if we say “those two machines made each other’ there is a logical
difficulty if both of them start from nothing.

4.1.1.5 Verbs of representation. Reflexive versions of these verbs include instances where
individuals act on their own behalf, rather than have someone act in their name or for them.

C6a) The boys represented X. This is difficult to find out
b) John spoke for X
C6b’ Yohdnes; a- ni- pod- o6l  *(nyé-medéi) NB: The anaphor is mandatory
John SM-Pres-speak-OBL  PRN.c1-REFL
‘John spoke for himself”

At this point you might want to reconsider your answer to section 3.7.1, where we asked you
about idiosyncratic or inherent reflexives - perhaps some of the ones you looked at earlier belong
to some pattern that you might alert us to here.

4.1.2 Argument position pairings

4.1.2.1 Subject-indirect object - The preceding questions asked mostly about subject-object
coreference. Can this strategy be used to express coreference between a subject and an indirect
object? Choose verbs that have an indirect object in your language.

C7a) Mary gave the gift to X (X = Mary)
C7a’ 7? Mariyaa- bi- ti- n- bd  likebla  NB: Less acceptable.
Mary SM-PST2-give-EPTH-REFL gift
‘Mary gave herself a gift’
C7”) Mariya; a- bi- ti- nyé-medéi/j likebla  NB: Correct
Mary  SM-PST2-give him/her-REFL  gift
‘Mary; gave herselfi/; a gift’
b) John showed the house to X (X = John)
C7b’ ok Yohdnes; a- bi- und- bd  nddB (nyé-medé;) NB: Correct
John SM-PST2-show-REFL house PRN.cI-REFL
‘John showed the house to himself’
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C7c) ok Yohdnes; a- bi- nim- bda  likebla (nyé-medé;) NB: Correct
John SM-PST2-refuse-REFL gift PRN.c1-REFL
‘John refused himself a gift’
As can be seen, the verb ‘give’ marginally license reflexivity or coreference (C7a’) but license
coreference with an anaphor (C7a).
For comparison, also provide judgements for the following:

C8a) Mary gave X the gift (X = Mary)
b) John showed X to the children (X = John)
NB: See C7 above. The result is the same.

4.1.2.2 Oblique arguments - Give some examples with oblique arguments, in whatever forms
your language allows.

C9a) Dan talked to X.

C9a’) ?7?Dan;a- bi- pdd-Js nyé-medé; NB: Marginally acceptable
Dan SM-PST2-speak/talk-OBL PRN.c1-REFL
‘Dan talked to himself”
C9a”)Dan a- bi- pit- ba

Dan SM- PST2-speak/talk-REFL
?? ‘Dan talked to himself/ OK Dan soliloquized’
NB: Note that C9a’ above conveys more the meaning of ‘self introspection’ than that of talking
to onself even though it is not easier to distinguish both meaning in my opinion. It is the reason
why the second meaning (soliloquy) is more finer than the first.
b) Dan told Mary about X (X = Dan)
C9b’) Dani a- bi- pdd- 6l  nyé-medé Mariya
Dan SM-PST2-speak/talk-OBL PRN.c1-REFL Mary
‘Dan; talked to Mary about himself;’
NB: Note that the position of the anaphor is very instrumental to the interpretation of C9b’ in the
sense that if the anaphor follows Marfya ‘Mary’ we get a different interpretation as can be seen
below:
C9b”)Dani a- bi- pdd- 6l Mariya nyé-medgi/j
Dan  SM-PST2-speak/talk-OBL Mary = PRN.c1-REFL
‘Dan; talked to Mary himself; (Dan in person)’ ‘Dan talked about Mary him/her+selfi/;’
Although I can’t decide whether the English version is correct or not, note that in the second case
i.e. in ‘Dan talked about Mary him/her+selfi/;’ the idea is that either ‘Dan talked to someone else
about Mary; herselfi’ or ‘Dan; himself; talked to someone else about Mary’. With this in mind,
one can understand why coreference is possible between Dan and the anaphor and Mary and the
same anaphor.

¢) Dan gave X a book.
If X stands for ‘Dan’ then the result is the following:

C9¢’) ??Dan a- bi- ti- n- bd  kdat NB: Less acceptable.

Dan SM-PST2-give-EPTH-REFL book
‘Dan; gave himself; a book’
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C7”) Dan; a- bi- ti- nyé-medéi/j kdat  NB: Correct
Dan SM-PST2-give him/her-REFL book
‘Dan; gave him/her+selfi/; a book’

4.1.2.3 Subject-adjunct - Provide some examples of coreference between a subject and an
adjunct, e.g., a locative PP. If appropriate translations are not prepositional objects, try to
construct appropriate examples.

C10a) Mary saw a snake behind X (X = Mary)
Cl10a’) Mariya; a- bi- téhé n33 1 mbus yé nyé-medéi/j
Mary  SM-PST2-see snake LOC back her/his him/her-REFL
‘Mary saw a snake behind her/him’ Literally: ‘Mary saw a snake behind him/her+self’
NB: Note that the adjunct ‘behind’ in Basad is a locative expression which can literally mean ‘to
the back’. Note also that coreference is possible between Mariya ‘Mary’ and the anaphor and the
anaphor and another given dgiscourse referent.

b) Mary called me because of an article about X (X = Mary)
C10b’). Mariya; a- bi- sefl-¢ mé¢ ipaa kaat (i) i- m- pdéd-61 nyé-medéi/;
Mary SM-PST2-call-OBL me for book REL.SM-Pres-talk-OBL him/her-REFL
‘Mary called me because of the book about her/him+self’
‘Mary called me because of the book about someone else’
NB: Note that two interpretations are possible in Cb’). Note also that REL stands for ‘relative
operator (which is optional).

c¢) John offended Mary because of X (X = John)
C10c). Y6hanési a- bi- unba- hd Mariya;inatyéi/; nyé-medéi/j/x
John SM-PST2-make angry-CAUS Mary  for his/heri/j; PRN.c1-REFL
‘John; made Mary; angry because of himj/j/cheri/j/x+self”
Keep in mind that the anaphor nyé-medéi/j/x can corefer with either with Yohanési , Mariya; or
any other presupposed/given discourse referent (see co-indexation).
d) We laughed in spite of X (Difficult to find out ‘in spite of”)

4.1.2.4 Ditransitives and double complements- Can the strategy be used to indicate coreference
between the two non-subject arguments of a verb?. If there is more than one way to express the
two non-subject arguments of a verb like "give", give examples for each type of construction. In
English, for example, we would want examples both of the type "show Hal the book" and "show
the book to Hal." (where X = Hal for Clla-d). For example, for (Cl1c), Bill gave Hal himself,
which is admittedly pragmatically awkward, but imagine for (C11a) that Mary is showing Hal
his image in the mirror - imagine Hal had never seen a mirror before.

Clla) Mary showed Hal to X.
Clla’) Mariya; a- bi- undd Hal; nyé-medé&i//x
Mary SM-PST2-show Hal PRN.cl-REFL
‘Mary showed Hal to himself’ NB: Mary is showing Hal his image in the mirror

b) Mary showed X to Hal.
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Cl11b’) Mariyaj a- bi- undd Hal; nyé-medéi/j/k
Mary SM-PST2-show Hal PRN.cl-REFL
‘Mary showed Hal to himself” NB: Mary is showing Hal his image in the mirror

Cl1b” ** Mariya; a- bi- undd Hal; Hal;
Mary SM-PST2-show Hal PRN.cl-REFL
‘Mary showed Hal to himself’ NB: Mary is showing Hal his image in the mirror
c) Bill gave Hal X. NB: Not applicable
d) Bill gave X Hal. NB: Not applicable
e) Mary told/asked the boys about themsleves/each other.
Clle’) Mariya a- bi- pdd- ol dildYai/j inuu yaBi/; b3-médéi/;
Mary SM-PST2-speak-OBL boys for their PRN.c2-REFL
‘Mary told the boys about themselvesi/;’
NB: Not applicable with ‘ask’ in Basad.
f) Mary showed/introduced/presented the boys to each other.
C11f’) Mariya a- bi- bon 1€ dildyai di- yi- nd tf5 ni tf5
Mary SM-PST2-do thatboys SM-know-RCM them CONN them
‘Mary managed to introduce the boys to each other/one another’
Literally: ‘Mary did that the boys should know each other/one another’
NBA: As can be seen, from C11f’, it is not possible to get a licit sentence parallel to the English
one (i.e. with verbs like ‘intoduce’ or present’).

4.1.2.5 Two internal arguments or adjuncts - Consider coreference between two arguments of
adjunct NPs in the same clause, neither of which is a subject and neither of which is a direct
object. Consider X=Hal in (C12).

C12a) Bill talked about Hal to X.
Cl2a’) Bill; a- bi- pod- ol  Hal ( {puu yéi/j) (ny€é-medéi/j/x)
Bill SM-PST2-speak-OBL Hal for his/her (Poss) him/her-REFL
‘Bill; talked to Hal;j about himselfi/j/x’
NB: The sentence is still grammatical if either the expression fuu ye or the anaphor ny&-mede is
dropped. In other words, only one of them can be dropped, but not two of them at a time. Also,
the sentence cannot be correct in a structure such as ‘Bill talked Hal about Hal’ i.e. if the NP
‘Hal’ is repeated, the structure becomes illicit.
b) Mary talked about X to Hal.
c¢) Mary talked to Hal about X
d) Mary talked to X about Hal.
NB: If X stands for ‘Hal’ then, we obtain C12a’ as a translation for C12b, C12c, and C12d. Also,
note that if the NP ‘Hal’ in C12a’ occupies the sentence final position, the resulting sentence is
ungrammatical as can be seen below:
Cl2e) ** Bill; a- bi- pod-ol (ipuuyéi/;) (nyé-medéi/j/x) Hal;
Bill SM-PST2-talk-OBL for his/her (Poss) him/her-REFL. ~ Hal

4.1.2.6 Clausemate noncoarguments
Possessives - Give examples based on the following sentences, and/or by constructing analogous
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examples from reflexive sentences from the previous sections. For each of (C13) and (C14), X =
Nick.

C13a) Nick telephoned X's mother.
Cl13a’Nick a- bi- sefél pdni/; 1 singa
Nick SM-PST2-call mother LOC thread
‘Nick; called hisi/j mother on the phone’
Note that the noun jpan denotes inherent possession i.e. when the possessor is third person
singular, there is no need for having a possessive adjective such as ‘his/her’. Also, as showed in
the co-indexation, coreference can hold between ‘Nick’ and ‘mother’ or between another given
/known discourse referent and the NP ‘mother’.
b) Nick combed X's hair.
C13b’) Nickia- bi-  péhél tféy tféi/;
Nick SM-PST2-comb hair his
‘Nicki combed hisi/j hair’
C13b”) Nicki a- bi- péhél nd  (Wéi/j)
Nick SM-PST2-comb head his/her
‘Nick; combed his;/; hair’
NB: In C13b” above, the possessive we ‘his/her is optional. But if dropped, coreference holds
only between ‘Nick’ and ‘head’ (his head).

c) Nick spoke to X's boss.
C13c¢’) Nick; a- bi- pdd- os nsag wéi/j nsdn
Nick SM-PST2-speak-OBL father his  work (noun)
‘Nicki/j talked to hisi/; boss’
d) Nick put X's book on the table.
C13d’) Nicki a- bi- kes kdat yé&/; 1 npgl téble
Nick SM-PST2-put on book his LOC above table
‘Nick; put hisi/j book on the table’
e) The king gave Nick a prize in X's village.
Cl3e’)panei a- bi- ti Nickj likeblai  log y€i/j/k (nyé-medé
king SM-PST2-give Nick gift LOC village/country his  him/her-REFL
“The king; gave Nick; a gift in hisi/j/k village’
NB: It is not easy to find out the word ‘prize’
f) The boys washed X's face.
C13f”) DildYd di- bi- jowd Nick su
boys SM-PST2-wash Nick face
‘The boys washed Nick’s face’
C14a) Nick's father admires X.
Note in what follows that C14a’ is marginally acceptable under the reading that Nick and the
pronoun ny¢ ‘his/her’ corefer as the questions marks behind the index ; ?? show it. Rather if it is
the case that ‘Nick’s father admires someone else apart from Nick himself” then the sentence is
correct. In order to get a good sentence where Nick corefers with the pronoun ny< ‘him’, ‘Nick’
should be presupposed/known/familiar in the discourse. In this case, ‘Nick’ should be a topic
(here the topic is followed by a comma which represents a prosodic break) as can be seen in
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Cl4a” below.
Cl4a’)nsdny  Nickja- ni- memlé ny€ ??i/;
father Nick SM-Pres admire him/her
‘Nick;’father admires himy/}’
Cl4a”) Nicki, nsdny a- ni- memlé nyé;
Nick father SM-Pres-admire him
‘Nick;, his; father admires him;’
b) Nick's ambition destroyed X.

All the same, in the context of C14b, two scenari come into play. First of all, if the possessor
‘Nick’ and the possessed NP ‘ambiton precede the coreferent pronoun, we obtain a marginal
sequence (see C14b’). However if ‘Nick’ is topicalized, the result is successful whether the
coreferent is a pronoun or a reflexive (see C14b’"). Note that it is difficult to find out the word
‘ambition’ presently. In C14b’”, it is shown that topicalization of ‘Nick’ and the anaphor nyé-
medé ‘himself” (reflexive) at the same time is correct and resumption in the sentence final
position is required (see that each topicalized element is followed by a comma). Another strategy
consists in topicalizing the anaphor and the NP ‘Nick’ as a whole (here the comma follows the
complex anaphor-Nick) in the order ‘anaphor-Nick in C14b”” (compare with C14b”* where the
order Nick-anaphor is used). Finally C14b””” shows that we can have topicalization in the order
‘Nick-anaphor’ and resumption in the sentence final position. But note that in terms of
interpretation C14°” lays emphasis on ‘Nick;” and then on the anaphor nyé-medg; ‘himself’. But
in C14b””” and C14b””” we obtain the same interpretation i.e. focus is on the ‘Nick himself” as a
whole.

C14b’) Mahdn3l md Nick; md- bi-  tfé ny€ 7?i/;
thought GEN Nick SM- PST2-destroy him

‘Bill’s thoughts destroyed himself” Or Bill’s thoughts destroyed someone else (known in the
context).

C14b”) Nick;, mahdn3l mé md- bi- tfé nyéi / nys-medg;
Nick thoughts his SM-PST2-destroy him /PRN.c1-REFL
“‘Nick;, his; thoughts destroyed himi/himself;’

C14b’”) Nicki, ny¢-med¢;, mahdnil mé md- bi- tfé nyéi
Nick PRN.c1-REFL  thoughts his SM-PST2-destroy him

‘Literally: Nick himself;, his thoughts destroyed him;’

C14b”) nye-med¢; Nicki, mahdn5l méi md- bi- tfé nyéi
PRN.c1-REFL  Nick thoughts his SM-PST2-destroy him
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‘Nick himself;, his; thoughts destroyed him;’ Literally: Himself; Nicki, his; thoughts
destroyed him;’

C14b’”) Nicki nyé-medsi, mahindl mé md- bi-  tfé  nyé
Nick PRN.c1-REFL  thoughts his SM- PST2-destroy him

‘Nick himself;, his thoughts destroyed him;’
c¢) Nick's mother sold X's car.
As can be seen below, in a sentence like C14c¢’ three interpretations are possible.
Cl4c’) [nay  Nicki]ja- bi- nupdl litowa jéi/j/x
mother Nick SM-PST2-sell car his/her
‘Nick’s mother sold Nick’s car Or ‘Nick’s mother sold his (Nick’s mother) own car’ Or
‘Nick’s mother sold someone else car’
Another possibility consists in topicalizing ‘Nick’ and in this case a wide range of interpretations
are possible as can be seen in Cl4c” below. In C14b’” below Nick and the anaphor nyé-medé;
‘himself” are topicalized separately (see the commas following each of them) because focus is on
each of them separately. Both C14b””” and C14b’”” have the same meaning. As can be seen
C14b””” and C14”>” involve topicalization of the whole anaphor-Nick or Nick-anaphor.
Cl4c”) Nicki, pangi a- bi- nundl litowa jéi/j/x
Nick mother SM-PST2-sell  car his/her
‘Nicki, his; mother sold his; car’ Or ‘Nick;, hisi mother sold someone else car’
Cl14c’’) Nicki, nyé-medg;, nangi  a- bi- nundl litowa jéi/j/x
Nick PRN.c1-REFL  mother SM-PST2-sell  car his/her
‘Nick; himselfi, hisi mother sold his; car’ Or ‘Nick himself, [his; mother]; sold her; (Nick’s
mother) own car’
C14b”’) Nicki nyé-medéi, pangi a- bi- nupdl litowad jéi/j/x
Nick PRN.c1-REFL  mother SM-PST2-sell  car his/her
‘Nick; himselfi, his; mother sold his; car (Nick’s car)’ Or ‘Nick; himself;, [his; mother]; sold
herj own car’ Or ‘Nick himself, his mother sold someone else car’

C14b’’) nyé-medé; Nicki, pangi  a- bi- nupl litowd jéi/j/x
PRN.c1-REFL Nick mother SM-PST2-sell  car his/her
‘Nick; himselfi, hisi mother sold his; car (Nick’s car)’ Or ‘Nick; himself;, [his; mother]; sold
her; own car’ Or ‘Nick himself, his mother sold someone else car’ ‘Literally: Himself; Nick;, [his;
mother]; sold hisi/i/her; car’

Please provide translations and judgments for the following examples where the plural pronoun
is coconstrued with the boys or the poltiticians.

X20a) The boys saw pictures of themselves/each other/them
X20a’ dildYd di- bi- téénd  Pititl
boys SM-PST2-see-RCM pictures
“The boys saw pictures of each other/one another’
b) Mary told the boys about pictures of themselves/each other/them
X20b’ Mariya a- bi-  pod- ol  dildYd: Bititt  gwafi/j b3+medei/;
Mary SM-PST2-speak-OBL boys pictures their ~ them+selves
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‘Mary told the boys about pictures of themselves/each other/one another’
c) The politicians planned attacks against each other.
X20c¢’ [bot bd mbapli (b5 ni b3)i bd- bi- ndn-nd Pisag (bd ni b3)i
people GEN politics them CONN them SM-PST2-invite-RCM fights them CONN them
Literally: ‘The politicians invited each other/one another to battles’
Note that the string (6J ni 6J)1 which can literally translated as ‘among them’ can be preceded
by the compound NP 6ot b6a’mbda’p ‘politicians’ or can be sentence final.
d) The politicians faked/simulated attacks against themselves/them.
NB: Difficult to find out the equivalent of ‘fake’ or ‘simulate’

4.1.2.7 Demoted arguments -

Example: (Cl5a-c) have been passivized. If your language has passive, construct reflexive and
non-reflexive versions of each one as above. For English, the by-phrases in (C15a,b) are not
interpretable as "alone" (see 3.6) and are not generally regarded as acceptable with by herself.

C15a) Polly was praised by X
Cl15a’ Polly; a- bi- béYeés nyé-medéi
Polly SM-PST2-praise PRN.c1-REFL
‘Polly; praised himself;’
Note that only a reflexive reading can be obtained from Cl5a, a passive construction is not
possible with the 6éYés ‘praise’.
b) Polly was helped by X
C15b’ Polly; a- bi- hdl- bd (nyé-medéi)
Polly SM-PST2-help-PASS PRN.c1-REFL
‘Polly; was helped by herself;’
¢) Little is known by Polly about X (X = Polly)
C15b” ndeY i- n- yi- fBd ni Polly; ijpud yéi (nyé-medéi)
little SM-Pres-know-PASS by Polly for her PRN.c1-REFL
‘Little is known by Polly; about herself;’

C15b ”ndeY y3-n i- n- yi- B4 ni Pollyi ipud yé (nyé-medéi)
little it-FOC SM-Pres-know-PASS by Polly for his PRN.c1-REFL
‘Little is known by Polly; about herself;’ Literally: ‘What is known by Polly about himself is
little OR ‘It is little which is known by Polly about himself”
Note that C15b can have two different structures, but the difference is that the second one i.e.
C15b” is focused (the adjective ‘little is focused in the language) as the literal translation shows
it.

d) The wax melted itself
C15d’ [Bihdmbol fi mabam]i bi- bi- suYi (gwi+medéi)
wax SM-PST2-melt.PASS them+selves

‘The wax melted itself’
Note that the verb su)7 ‘melt’ is inherently focused in Basad although the passive morpheme
remains implicit.

4.1.3 Properties of antecedents
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4.1.3.1 Pronouns, person and number - Consider all possible person/number combinations for
the subject of the following sentence.
Cl6a) I saw X.
Unless my understanding is wrong, let us consider the following examples.
Cl6a’ Msi bi- téhé metmedé
I  PST2-see me-REFL
‘I saw myself ( I in person saw)’
b) Yousaw X. (etc.)
Cl6a” U; bi- téhé wetmedéi
you PST2-see you-REFL
“You saw yourself (you in person saw)’

Repeat with the following sentences, or other suitable examples from section 4.1.1.
If X stands ‘I’ or ‘Me’ in the context, let us consider the following examples.
C17a) I washed X.
Cl7a’Mei bi- ndY53 (me+medéi)
I PST2-wash me-REFL
‘I washed (myself)’
b) I hate X.
C17b’Meif)- 25- bd  (me+medéi)
I Pres-hate-REFL me-REFL

‘I hate (myself)’
c) [ told John about X
Cl17¢’ Megbi- pdd- 6l (metmedéi) Yohanes (me+tmedé;)
I PST2-speak/talk-OBL me-REFL John me-REFL
‘I told John about myself”

NB: Here the anaphor can precede or follow Ydhanes ‘John’ but it is not optional.
d) I saw a snake near X
C17d’Mei bi- téhé pddy i pan yémy
I  PST2-see snake LOC side my
‘I saw a snake near me’ Literally: ‘I saw a snake on my side’

e) [ am liked by X.
Cl17¢’ Mei 1)- gwés-bd (me+medé;)
I Pres-like-REFL.PASS me-REFL
‘I am liked by myself’
Note that in C17e’ above the morpheme -b6a encodes reflexivity and passive at the same time.
f) I telephoned X's mother

C17d’ Meibi- séfél nnii i singa
I PST2-call mother LOC thread
‘I call my mother on the phone’

NB: As already mentioned in the preceding sections, the item ‘mother’ in Basad is has an
inherent possession i.e. it changes depending on the possessor. For instance if the possessor is the
first person singular ME, the item should be nn/as in C17d’ above (the same item is used if the
possessor is the first person plural US). If the possessor is the second person singular or the
second person plural “YOU”’ the item should be ju7. Finally, if the possessor is third person
singular HIM/HER or third person plural ‘“THEM’ the item is 7. As a result, the items nni jun
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and nadpdenote the same entity namely ‘mother’ depending on the possessor.

g) My father admires X
Cl7g’ (ta)tdi a- - memlé mé;

father SM-Pres-admire me

‘My father admires me’
In the same vein the item ‘father’ in Basad varies depending on the possessor. So, (fa)ta’is used if
the possessor is first person singular ME or first person plural ‘US’ nsJp is used for second
person singular “YOU’ and second person plural “YOU’ while nsay when the possessor is third
person singular or plural namely ‘HIM/HER and ‘THEM’.

4.1.3.2 Animacy or humanity- If animacy plays a role in choice of strategy or if a strategy is
restricted to human (or metaphorically human) entities, please give examples showing both
success and failure of the strategy in a way that illustrates the difference.

C18a) History repeats X
In order to have an approximate sentence to C18a, I will use ‘life’ instead of ‘history’ because it
is easier to convey the message appropriately with the former than with the latter. The word for
‘history’ is more complex and might not convey the meaning appropriately. Note also that the
presence of the anaphor (reflexive) leads to marginal acceptability.
Cl18a’Nigi i n- timba (?? y3+medéi)
Life SM-Pres-repeat it-REFL
‘Life repeats itselt”
b) This type of fish cannibalizes X
C18b’ mintén mi  tf53{ mini mi-d- jé-nd (M) ni m))
types GEN fish these (DEM) SM-Pres-eat-RCM them CONN them
This kind of fish cannibalizes’ Literally: ‘These kinds of fish eat each other/one another’
Note that DEM stands for ‘demonstrative’. As can be seen, the verb t/mba ‘repeat’ is inherently
reflexive.

¢) This machine destroys X (e.g., after you use it)
i keyi ini i- n- opi (y3+medéi)
C18c’ DEF machine this (DEM) SM-Pres-destroy (one-REFL)
‘This machine destroys itself” OR
Cl18c”1  keyi ini i- A timba (y3+tmedéi)
DEF machine this (DEM) SM-Pres-destroy (one-REFL)
“This machine destroys itself’
In C18¢c’ and Cl18c” both ofi and timbd are synonymous. All the same, these verbs are
inherently reflexive and this can be clearly understood by the fact that they optionally select
anaphors.

4.1.3.3 Pronoun types - If your language has more than one class of subject pronouns (e.g.,
clitic and non-clitic), repeat the tests of the previous section for each type. Also repeat for null
pronouns, if applicable.

a) Personal pronouns subject b) Personal pronouns object
Me ‘I’ Me ‘Me’
U ‘youw’ we  ‘you’
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A ‘He/she’ ny€ ‘her/him’

Di ‘we’ bés ‘us’

Ni ‘you (pl.)’ b¢ ‘you (pl.)’

ba ‘they’ b5 ‘them’

c) Possessive pronouns

w-€m ‘mine’ w-31) ,yours (2. Pers. Sing)
w-¢ ‘his/her’ w-¢s ‘ours’

nan ‘yours (2.pers. pl) w-ap ‘theirs’

Note that since basdd is a noun class language like many African languages, there is always
morphological agreement between the head noun and its satellites (adjectives, possessives,
demonstratives, numerals etc.) within the noun phrase/Determiner phrase. For instance, in a noun
phase like malet w-ém “my teacher”, the agreement morpheme w- corresponds to class one in
this language and is invariable in person and number (apart from ndn “yours” whereas the
possessive adjective marker —¢m varies depending on the noun class, person and number. Keep
also in mind that possessive adjectives and possessive pronouns in this language are
homophonous. For instance:

(1) man w- w-dn- a  ye héé
child Agreement Marker-possessive- SM be where
“Where is your child?”
(i) w- w-dn- a ye héé?
Agreement Marker-Possessive SM  be where

“Where is yours?”
There are about 13-24 noun classes in basad in such a way thatto each noun class
corresponds a specific agreement marker.

4.1.3.4 Quantifiers - Provide judgements for the following sentences, where X is a pronoun
corresponding to the subject successfully, or X is the anaphoric (reflexive) strategy that achieves

a reflexive (coconstrued) reading.

C19a) Every woman saw X.

C19a’ hikii mudad; a-bi-té€h€ nyé-medéi
each/every woman SM-PST2-see her/him+self
‘Every woman; saw herself;” OR ‘Every woman; saw himj/herself;’ OR
C19a” hikii mudadi a- bi- téé-ba (nyé-medé) NB: Optional reflexive
each/every woman SM-PST2-see-REFL
b) Every child washed X.
C19b’ hikii maangéi a- bi- ndY5P ( nyé-medéi)

each/every child = SM-PST2-wash PRN.cl-REFL
‘Each/every child; washed (himself;)

c¢) Every student hates X.
C19¢’ hikii gpuda a- 1- 20- ba
each/every student SM-Pres-hate-REFL
‘Every students hates himself”
C19c¢” hikii pudldi a- §- 20 nu yé&  nyé-medéi
each/every student SM-Pres-hate body his/her him/her-REFL
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‘Every student hates himself” OR Literally: ‘Every student hates his/her own body’
C19c¢’” hikii gudui a- §- 20 nu  yé
each/every student SM-Pres-hate body his/her
‘Every student hates himself” OR Literally: ‘Every student hates his/her own body’
C19c¢”” hikii gudli a- 1- 20 nyé-medéEi/j
each/every student SM-Pres-hate him/her-REFL
‘Every student hates himself’
NB: Note that in C19¢” there is a simultaneous use of the expression s yé (literally ‘his own
body’) and the reflexive nye-meds ‘him/herself’, but in C19¢” and C19¢”’ each expression is
used separately. However, the meaning is the same even if at the level of interpretation C19””
the reflexive nys-medési/; ‘his/herself” can corefer either with the subject ‘student’ or with some
other referent in the discourse.

d) Every child saw a snake near X.
C19d’ hikii maangéi a- bi- téhé p3dy i pan yé&/j  (nyé-medéEi/j)
each child  SM-PST2-see snake LOC side his/her him/her-REFL
‘Every child; saw a snake near himi/;’
C19d” hikii maangéi a- bi- téé nyy i pay yé&/;  (nyé-medéi/)
each child  SM-PST2-see+OBL snake LOC side his/her him/her-REFL
‘Every child; saw a snake near himi/;’
C19d’ hikii  maangéi a- bi- tch-€l nyy i pay yé&/;  (nyé-medéi/;)
each child SM-PST2-see-OBL snake LOC side his/her him/her-REFL
‘Every child; saw a snake near himy/;’
NB: Keep in mind that although we have three different sentences for C19d, one obtains the
same interpretation. The difference is at the level of the morphology of the verb téh€ ‘see’which
can be realized differently. In C19d” the oblique morpheme is implicit but explicit in C19d’”’.
e) Every child telephoned X's mother.
C19e’ hikii maangéi nyé-med€i a- bi-  sefél pdgi | singa
each/every child him/her-REFL. SM-PST2-call mother LOC thread
‘Every child telephoned his own mother’
NB: Remember that the item 1y ‘mother bear inherent possession and varies according to the
possessor (the same as the item ‘father’in the language).

e) Every child's father admires X.
C19¢’ hikii maangéi, nsdy a- ni- memlé nyéi

each/every child  father SM-Pres-admire him/her

‘Every child;’s father admires him;’ Literally: Every child, his; father admires him;’
As can be seen in C19¢’ above the quantified nominal hki/ maangg ‘every child’ has to be
topicalized.
Repeat, replacing the quantifier "Every N" with "No N", and if any quantified antecedents
behave differently from these, please provide the same paradigm.
C19f) mudadi to-wa-dd a- bi- téhé bé€ nyé-medéi/;

woman no-AGR-dd SM-PST2-see NEG him/her-REFL

‘No woman saw herself’
C19f’) mudad; to-wa- dd a- bi- téé-ba béé (nye-medéifj)

woman no-AGR-dd SM-PST2-see-REFL NEG him/her-REFL
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‘No woman saw herself”
C19g) maangéi to-wa-dd  a- bi- ndY5B 6é€ (nyé-medéi/;)
child no-AGR-dda SM-PST2-wash NEG him/her-REFL
‘No child washed himself?’
C19h) puddi  to- wa-dd a- 13- 020 DBé (nyé-medéi/j)
student no-AGR-dd SM-Pres-hate NEG  him/her-REFL
‘No student hates himself’
C19h’) nudd; to- wa-dd a- ©§- 020- ba béé (nyé-medéi/j)
student no-AGR-dd SM-Pres-hate-REFL NEG him/her-REFL
‘No student hates himself’
C19i) maangé; to-wa- dd a- bi- téhé béé ndd {1 pdy yéi/;j (nyé-medéi/j)
child no-AGR-dd SM-PST2-see NEG snake LOC side his/her him/her-REFL
‘ No child saw a snake near him/herself’
C191°)
maangéi to-wa- dd a- bi- téé bé& ndd 1 payg yéi/; (nyé-medéifj)
child no-AGR-dda SM-PST2-see.OBL NEG snake LOC side his/her him/her-REFL
‘ No child saw a snake near him/herself’

As illustrated above, the negative quantifier ‘no’ in Basad is a complex word made up of a
negative morpheme 72’no’ an agreement morpheme (AGR-) which varies depending on the noun
class of the negated noun and the morpheme da”(whose real meaning is unspecified here). Also
since all negated noun above are from class one in the Basad noun class system (they denote
kinship) the agreement morpheme occurring in-between the negative morpheme #2 ‘no’ and the
morpheme da”is -wa-. Also, note that the reflexive (anaphor) is optional. Two examples are
provided for ‘no woman washed’ because of two available strategies namely one without a
reflexive morpheme (C19f) and the other one with a reflexive (C19f”). In like manner, the same
two strategies are used for ‘no child hates himself” (see C19h and C19h”)

NB: NEG stands for ‘NEGATION’ and as can be observed, the complex negative item t2-wa-da,
which I considered as an NPI by default always co-occurs with the negative marker Hee’like any
other negative polarity item such as tomut ‘nobody’ toydm ‘nothing’ tokii ‘anything’ etc. In
C191’the oblique marker is implicit.

4.1.3.5 Questioned antecedents - As in (C19), X is coreferent with the wh-word in all of the
following (if C20e is possible in your language). If your language leaves question words in situ,
translate accordingly, and if your language allows both in situ and fronted questions, then
provide examples of both possibilities and judgments for each of the coreference strategies.

C20a) Who saw X?
C20a’ njééi a- bi- téhé nyémeds;
who SM-PST2-see him/her-REFL
‘Who; saw him/herself;?’
C20a” njééi a- bi- téé-ba
who SM-PST2-see-REFL
‘Who; saw him/herself;?’
b) Who washed X?
C20b’ njééi a- bi- n3Y3B (nyé-medé;
who SM-PST2-wash  him/her-REFL
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‘Who; washed himself;?’
¢) Who saw a snake near X?
C20c’ njééi a- bi- téhé ndd 1 pan yér  (nyé-medg;)
who SM-PST2-see snake LOC side his/her him/her-REFL
‘Who saw a snake near himself?’ Literally: ‘Who saw a snake beside himself?’
C20c” njé€i a- bi- téé ndy 1 pang yé&  (nyé-medéi)
who SM-PST2-see+OBL snake LOC side his/her him/her-REFL
‘Who saw a snake near himself/’ Literally: ‘Who saw a snake beside himself?’
C20c’”’ njééi a- bi- téé-n¢ ndy 1 pang yé (nyé-medg)
who SM-PST2-see-OBL snake LOC side his/her him/her-REFL
‘Who saw a snake near himself/’ Literally: ‘“Who saw a snake beside himself?’
NB: All sentences in C20 above convey the same meaning. Please see comments below C19
above.
d) Who telephoned X's mother?
C20c”” njé€i a- bi- sefél pdygi | singa
who SM-PST2-call mother LOC thread
‘Who telephoned his mother’ Literally: ‘Who called his/her mother on the phone?’

¢) Whose father admires X?
C20¢’ njééi nsdni/; nyé-medéi/; a- m- memle
who father  him/her-REFL SM-Pres-admire
‘Whose father admires him/herself?” OR literally ‘Who; does hisi/j father admires?’
Note that in C20e’ coreference can holh between the wh-phrase njs ‘who’the NP nsap ‘father
and the reflexive nyé-medé © him/herself” or between the reflexive, and another discourse entity
and ‘father’. The same holds for C20e”” below.
C20e” njééi nyé-medéi/; nsani/j a- mi- memle
who him/her-REFL father SM-Pres-admire
‘Whose father admires him/herself?’
4.1.3.6 Reverse binding - In the following examples, the full NP (‘antecedent') appears in the
lower (prototypically, object) position. Try to translate these into your language. It is expected
that many sentences constructed in this section, possibly all, will be unacceptable in many
languages (as *Himself saw Fred is in English). Naturally, any examples which are not
ungrammatical are of particular interest.

C21a) X saw Fred.
C21a’) Nyé-medéi Tonyéi a- bi- téé- ba
PRN.cI-REFL  Tonye SM-PST2-see-REFL
‘Tony¢ himself” OR Literally: Tony€ (in person) saw himself’
C21a”* Nyé-medéia- bi- téé- ba Tinyéi
PRN.cI-REFL  SM-PST2-see-REFL Tonys
Intended:  ‘Tony¢ himself” OR Literally: Tony€ (in person) saw himself’

NB: In the case of C21a’ above, focus is on the anaphor. This is a sort of emphatic construction
which might convey a contrastive reading (e.g Tonye HIMSELF (in person),but not someone
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else.). Again, it is not possible to have the full NP (antecedent at the end of the clause) as the
ungrammaticality of C21a” shows it.
b) X saw us. (X=us)
C21b is not applicable
¢) X saw a snake behind Fred.
C21c” Nyé-medéi TInyéi a- bi- téé ndy i pag yéi
PRN.c1-REFL  T3nyé SM-PST2-see.OBL snake LOC side his
‘Tony¢ saw himself” Literally: Tony€ (in person) saw himself’
Comment below C21a above also applies to C21c

d) X impressed Fred
Difficult to process

e) Bill spoke to X about Fred.
C2le’) Ewasia- bi-  pdd- 61 nyé-medg Tinyé; inuu yéi/j/x
Ewas SM-PST2-speak-OBL PRN.c1-REFL  T3ny¢ for his/her
‘Ewas; talked about himselfi to Tiny€’ ‘Ewas talked to Tiny¢ about someone else’ ‘Ewas
talked about Tiny¢; to himself;’
f) Bill told X about Fred
C21f) Ewasia- bi- pdd- 61 nyé-medg Tinyé; inuu yéi/j/x
Ewas SM-PST2-speak-OBL PRN.c1-REFL.  T3ny¢ for his/herf
‘Ewas; talked about himselfi to Tiny€’ ‘Ewas talked to Tiny¢ about someone else’ ‘Ewas
talked about Tiny¢; to himself;’
Note that CC21e and C21f” are the same in Basad.
g) X was praised by Fred.
Not applicable
h) X is liked by you. (X = you)
Note applicable.
If the current strategy permits a possessive position to be coreferent with its antecedent, please
indicate if an anaphor or a pronoun is possible in the position of X, which should correspond to
George in all of these examples.

C22a) X telephoned George's mother.
C22a’ Nyé-medéi Tinyéi a- bi- sefél nani/; | singa
PRN.c1-REFL  T3nyé¢ SM-PST2-call mother LOC thread
‘Tonye; himself; called hisi/j mother’ Literally: T3ny¢i (in person) called hisi/; mother on the
phone’
Note that at this level, it is not possible to have the antecedent at the end of the clause as already
mentioned in previous sections.
b) X's mother wanted to improve George.
In C22b’ below, there is topicalization of the whole nominal chunck Nyé-medé; Tonye; ‘Tinyé
himself” or in person but, as already known, the antecedent cannot close off the sentence.
C22b’) Nyé-medéi Tinyéi, pani/j a- bi-  sombdl hénél ny&i/;
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PRN.c1-REFL  T3nyé mother SM-PST2-want change/improve him
“TAnyéi himself;, hisi mother (T3ny€’s mother or someone else (known in the context) mother
) wanted to improve himi/j (TOnyé€ or someone else known in the context)
¢) X's mother worried/impressed George.
C22¢’) Nyé-medéi Tinyéi, nani/; a- bi- ton- bd  fpuu yéy
PRN.c1-REFL Tinyé mother SM-PST2-worry-REFL for  his/her
“T3nyéi’s mother worried about himy/}’
In C22¢’ there is topicalization of the whole nominal chunk Nyé-medé; Tonys; ‘Tinyé himself” or
in person, but coreference can hold between either ‘mother’ and 7Jny<or between ‘mother’ and
some other name in the discourse’
d) Mary told X's mother about George.
C22d’) 7? Mariya a- bi-  pdd-dl nani  Tonyéi ijpuu  Tonyéi (nyé-medé;)
Mary SM-PST2-speak-OBL mother T. for his/her PRN.cl-REFL
‘Mary; talked to Tony€;’s mother about himj/j/i” ‘Literally:
C22d”) Tonyéi, Mariya; a- bi- pod- ol  pdngi  ipuu yéi/i/x
T. M. SM-PST2-speak-OBL mother for  his/her
“Tonyéi, Mary; spoke to his; mother about him/heri/j/x’
C22d’”) nyé-medé; Tonyéi, Marfya a- bi- pdd- ol nani  ipuu yéi/j/x
PRN.c1-REFL T. M. SM-PST2-speak-OBL mother for his/her
“Tonyéi himself;, Mary; talked to hisi/j/x mother about him/her;/j/x’
C22d””’) Tony¢i nyé-medé;, Marfyaa- bi- pdd- dl nani  ipuu yéi/j/x
T. PRN.cI-REFL M. SM-PST2-speak-OBL mother for his/her
‘Tonyé€i himself;, Mary; talked to hisi/j/x mother about him/her;/j/x’
Note that C22d’ is marginally acceptable. C22d”, C22d”” as well as C22d”” are instances of
topicalization (see also previous comments).

e) A picture of X's mother fell on George.
C22¢’) Tonyéi nyé-medé;,  pdni  titii yéi/j/x 1- bi- kwel nyéi/j/x
T. PRN.c1-REFL mother picture his/her SM-PST2-fall on him/her
‘A picture of Tonyé€is mother fell on him/heri/j/i’ ‘Literally: ‘Tonyé€; (in person), his
mother’s picture fell on him/heri//x’
f) A picture of X's mother pleased George.
C22f”) Tonyéi nyé-medé;, nani  titil yéi/i/x 1- bi- 1émél nyéi/j/k
T. PRN.c1-REFL mother picture his/her SM-PST2-please him/her
‘A picture of Tonyé€is mother; pleased him/heri/j/x’
Please, have a careful look at co-indexation which enables one to have an idea about coreference.

4.1.4 Some matters of interpretation
4.1.4.1  Distribution, reflexivity and reciprocity - Select and translate a simple example
illustrating the using a clausemate coreference strategy successfully, such as (C23).

C23) The women help X.
C23a) bodadi  ba-bi- hol-nd (b3 ni b3)i
women SM-PST2-help-RCM them CONN them
“The women helped each other/one another/themseves’
C23a’) bodadi  bd- bi- hold b3-medé;
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women SM-PST2-help PRN.c2-REFL
‘The women helped themseves’ Literally: ‘The women help
Note that in C23a, there is a reciprocal reading while in C23a’ we don’t have such a reading,
rather, what we obtain is a reflexive meaning.. Note that the base form of the verb ‘help’ is hola
like in C23a’ but due category changing, the last vowel a” of the base is deleted before the
reciprocal morpheme get attached to the verbal root.
Which of the following meanings can this example have?

C24a) Each woman helps all (or almost all) of the women, excluding herself.

b) Each woman helps all of the women, including herself.

c¢) Each woman helps at least some of the other women.

d) Each woman helps herself.

e) The women together as a group help the women together as a group.

f) Each woman helps one of the women other than herself, such that all of the

women are helped by one of the others.

C23a corresponds to C24b,and C24c, while C24a’ corresponds to C24e and probably C24d and
C24f.
Translate each of the following examples, which are compatible with collective action, and state
their possible interpretations as above.

C25a) The women praised X.
C25a’ bodadi bd- bi- béYés br+medsi
women SM-PST2-praise PRN.c2-REFL
‘The women praised themselves’ Literally: ‘The women as a group praised themselves as a
group’/ Each woman of the group praised the other women of the same group including herself”.
C25a” bodadi bd- bi- béY- hd (b5+tmedéi)
women SM-PST2-praise-RFM.RCM PRN.c2-REFL
‘The women praised each other/one another Literally: ‘The women as a group praised
themselves as a group’/ Each woman of the group praised the other women of the same group
including herself”.
NB: Note that in C25a” we have an instance of a reciprocal reflexive i.e. the women did not only
praise themselves but also, praised each other/one another.
b) The women will support X.
C25b’) bodadi ba- bi-honbd-nd (65 ni b5i)
women SM-PST2-support-RCM them CONN them
‘The women supported each other/one another’
C25b”) bodadi bd- bi-honbd-nd b3+medé;
women SM-PST2-support-REFL PRN.c2-REFL
‘The women supported themselves’ Literally: ‘Each woman of the group supported
herself’ and ‘each woman of the group supported other women of the same group’/’The women
as a group supported the whole group ( nobody out of the group should not help them’
Note that the morpheme —na’is multifunctional i.e. it encodes reciprocity (C25b’) and reflexivity
(C25b™).
c¢) The women photographed X.
C25¢’) bodadi bd- bi- ot- nd  Dbititii (b5 ni bdi)
women SM-PST2-photograph-RCM pictures them CONN them
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‘The women photographed each other/one another’ i.e. ‘Each woman of the group
photographed at least one woman of the same group’

C25¢”) bodadi bd-bi- ot bo-medé;  bititii
women SM-PST2-photograph PRN.c2-REFL pictures
‘The women photographed each other/one another’ i.e. ‘Each woman of the group
photographed at least one woman of the same group’
d) The women betrayed X.
C25d’) bodadi bd- bi-sohbé-né bo-medé;
women SM-PST2-betray-RCM PRN.c2-REFL
‘The women betrayed themselves’ i.e. ‘The women as a group betrayed their own group’/
C25d”) bodadi bd- bi-sohbé-né b5 ni b5
women SM-PST2-betray-RCM them CONN them
‘The women betrayed each other/one another’ OR ‘Each woman of the group betrayed at
least one woman of the same group’
NB: Here again, note that the morpheme n& is multifunctional in that it conveys reflexivity as
well as reciprocity.
In light of these observations, which of the local coreference strategies in your language permit
only reciprocal readings, which ones permit only reflexive readings, and which ones permit
both?
If this strategy can have both reflexive and reciprocal readings, can you think of some
predicates in which it is ambiguous? For example, in German, Die Kinderen wassen sich can
mean either "the children are washing themselves" or "the children are washing each other."

4.1.4.2 Reciprocal readings - Complete this section only if your strategy allows a reciprocal
reading (i.e., permits a reading like those in (C24a) or (C24f). If the strategy is ambiguous, make
sure to use verbs that allow the reciprocal interpretation.

No verb in the language allows for readings such as C24a and C24f.

a) Which of the following verbs can the strategy be applied to?
C26) "meet", "See", "ﬁght", "Spea n, "hit"
b) Does the strategy allow the constructions where X is understood to be a reciprocal which has a
plural antecedent consisting of John and Bill (i.e., it would be understood as "John and Bill saw
each other"). Are both "see" and "meet" possible in (C27), or is only one sort of verb acceptable?
C27) John met/saw X with Bill (Meaning: "John and Bill met/saw each other.")
c) Is there any difference in the range of interpretations permitted for (C28a) as opposed to
(C28b), or any difference in reciprocal strategies that support these interpretations? If so, tell us
what you think the problem is and provide pairs like these for subsequent tests in this section

(and let us know if male/female gender pairings introduce any complications).

C28a) John and Mary praised X.
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b) The women praised X.

Remarks: In some languages, a different reciprocal is favored or required when the antecedent
phrase refers to pairs (or perhaps distributed groups) rather than large pluralities.

d) Can the strategy express reciprocity between a subject and an indirect object?

C29a) John and Mary spoke to X.
b) John and Mary met with X.
c) John and Mary gave this book to X.

e) Long-distance reciprocal readings - For any of the strategies that permit a reciprocal reading,
can the following sentence be translated to mean "Bill thinks he likes Mary, and Mary thinks she
likes Bill"?

C30) Bill and Mary think that they like X.

4.1.4.3 Sociative readings
Please translate these sentences, more than one way, if possible. Please be sure to let us
know if an of the reciprocal or reflexive strategies can be used to achieve these readings.

Note that the following sentences in C31a’ and C31b’ express simultaneity (glossed as SIMUL)
rather than reciprocity or reflexivity.
C31a) The baboons left together
C31a’) BinuYa Bi- bi- ki- ha
animals SM-PST2-leave/go-SIMUL
‘The animals left together’
b) The baboons ate fish together
C31b’) ggwd i- Dbi- jé- ha nlamb
dogs SM-PST2-eat-SIMUL meat
‘The dogs ate meat together’
Note that the simultaneous morpheme may bear a high or low tone depending on the argument
structure of the predicate. If the verb is intransitive, there is no tone on it, but when the verb is
transitive, this morpheme bears a high tine. Note also that the original forms of the verbs ‘leave’
and ‘eat’ are k€ and j £ and respectively. But due to simultaneity formation these verbs change the
basic vowel ¢into 7 and e respectively.
4.1.4.4 Antipassive readings
C32a) That panther bites people.
C32a’) i njeé i i- 1- 3B- Ba
DEF panther that (DEM) SM-Pres-bite-A.PASS
“That panther bites (people or anything else)’
C32a”) 1 njeé i i- 1n- 5B bot
DEF panther that (DEM) SM-Pres-bite people
‘That panther bites people’
b) The government arrests people.
C32b’) ngdmin a- 1n- gwel- a
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government/state  SM-Pres-arrest/catch-A.PASS
‘The government arrests (people or anything else)’
C32b”’) ngdmin a- 1- gwel bot
government/state  SM-Pres-arrest/catch people
‘The government arrests people’
c) Bill praises people
C32¢’) Ewas a- m- bEY- ha
Ewas SM-Pres-praise-A.PASS
‘Ewas praises people’
C32¢”) Ewas a- m- bEéYés bot
Ewas SM-Pres-praise people
‘Ewas praises people’
NB: The data provided in C32 above show that there exists a specific morpheme (glossed as
A.PASS for convenience and can vary in form) which encodes antipassive. Whenever this
antipassive morpheme occurs, there is no explicit patient but this patient is implied. On the
contrary, in a non-antipassive construction, the patient is explicit.

4.2 Cross-clausal binding

X4) John expects himself to win.

X4’) Yohdnes; a-mi-bem 1€ nyé-medéi/; ai/j--komol

John SM-PRS-expect that PRN.cI-REFL. SM- PRS-win
‘John; expects himself; to win’ OR ‘John expects some other X (in person) to win’

As can be seen from co-indexation, the anaphor can corefer with the higher subject namely
Yohanes ‘John’ or with another name known in the discourse. Note that sentences like X4’ in
Basad are serial verb constructions. In a serial verb construction in this language the embedded
subject is never realized overtly, but is semantically recovered by the subject marker (SM) of the
embedded clause (see co-indexation)

X5’)Ewas; a- 13- kal 1€ me njidé kal wé 1€
Ewas SM-PRS-say/tell that I  try.SUBJ say/tell you that
u  pdd- dds ny€i/;j mbenel

you talk/speak-OBL.SUBJ him  quietly
‘Ewasi told me that I should try to tell you that you should talk to himi/; quitely’
NB: Note that SUBJ stands for SUBJUNCTIVE. Coreference here can hold either between the
matrix subject ‘Ewas’ and the most embedded object ny& ‘him/her’or between the most
embedded object ny& and another name known in the discourse.

X6’) Ewas; a-n-kal 1¢  Hjol; a-§-gwés hingondd hi  hi-bi-sambla nyéi/j/x
E. SM-PST2-say that H.  SM-Pres-love gir. DEF REL SM-PST2-kiss him/her
‘Ewas; said that Hjol; loves the girl who loves himi/j/x’
NB: In X6’ above DEF stands for DEFINITE (ness) and REL for RELATIVE (operator).
Coreference can hold between the pronoun nys ‘him/her’ and the matrix subject ‘Ewas’, between
the pronoun and the intermediate embedded subject Hjol or between the pronoun and another
presupposed name.

X7’)Ewas; a- 13- kdl 1€ Hjolj a- ni- bend kds€¢  ny€iljx
E. SM-Pres-say that H. SM-Pres-have a habit criticize him/her
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‘Ewas; says that Hjol; has a habit of criticizing himj/x’
4.2.1 Coreference relations across typical tensed clausal complement

X8’) Yohdnes; a- 1p- kil 1€ Marlyaj a- 13- gwés-bd (nyé-medé))
Jonh SM-PST1-say that Mary SM-Pres-love-REFL PRN.c1-REFL
‘John; said that Mary loves herself;’
X8”) Yohdnes; a- 1n- kil 1€ Mariya; a- 1)- gwés nyé-medéi/i/x
Jonh SM-PST1-say that Mary SM-Pres-love PRN.c1-REFL
‘John said that Mary loves herself’
Note that in X8’ the anaphor is optional because eof the presence of the reflexive morpheme 6a,
but when used coreference holds only between the embedded subject and the anaphor. In X8
where the anaphor is not optional coreference can hold in three ways. Note that no relationship
holds between the matrix subject and the reflexive morpheme. This state of affais provides
evidence that the use of the reflexive morpheme is strictly local.
Keeping X8 abobe in mind and as already indicated, no reflexivity can hold between the highest
subject and the reflexive morpheme.

X10’) Yohdnes; a- n- kdl l¢ Marlya; a- 1)- gwés nyé€ilk
Jonh SM-PST1-say that Mary SM-Pres-love PRN.cl
‘John said that Mary loves him’
Note that coreference can also hold between the pronoun and another presupposed name.

X11’) Yohdnes; a- n- kil ny¢; 1€ Marlyax a- 1)- gwés nyéy;
Jonh SM-PST1-say him/her that Mary SM-Pres-love PRN.c1-REFL
‘John; told him/her; that Mary loves him/heri/;’
X11”) Yohanes; a- 1n- kal nyé§; 1é¢ Mariyax a- 1)- gwés-ba
Jonh SM-PST1-say him/her that Mary SM-Pres-love-REFL
‘John; told him/her;j that Maryx loves herselfi’
X117 confirms the fact that reflexivity applies locally.

4.2.1.1 Tensed complement, long distance relations, anaphor in situ - Please provide translations
for all of these sentences where X is Jack.

D1a) Jack said that X is smart.
Dla’)*? Ewas; a- bi- kdl 1€ nyétmedi &/;- - yi  jdm
Ewas SM-PST2-say that PRN.c1-REFL SM- Pres-know thing
‘Ewas said that he is smart’
Dla”)Ewasi a- bi- kdal 1€ ny/; 4i/;- n- yi  jdm
Ewas SM-PST2-say that him SM-Pres-know thing
‘Ewas said that he is smart’
Dla’’) Ewas; ai- bi- kal 1  4di/- n- yi  jam
Ewas SM-PST2-say that SM- Pres-know thing
‘Ewas said that he is smart’
NB: Sentence Dla’ is unacceptable because the predicate y/ cannot select an anaphor as a
subject. Note also that where there is a succession of two vowels at a morpheme boundary, one
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causes elision of the first vowel as in Dla’ and D1a” where the anaphor nyg+mede ‘himself’
(D1a’) and the pronoun ny& ‘him/her realize as ny£+med and ny respectively by loosing the final
vowel due to adjacency with the subject marker —a. As a result of this, the high tone on the final
vowel of both the anaphor nyé-medé ‘himself’and the pronoun ny< ‘him/her spreads over the
subject marker a-which is right adjacent to it. The same process applies to D1a” between the
lexical complementizer /(€) ‘that’ and the subject marker —a” D1a” and D1a’” are correct because
the verb ‘know’ successfully selects pro as its subject since Basad is pro-drop (D1a’’). In D1a”
the pronoun ny(¢) ‘him’ can also be selected by the verb y/know’. Note also from co-indexation
that it can be the case that the subject marker corefer with another presupposed name in the
discourse.

b) Jack knows that George likes X.
DI1b’) Ewasi ai- - yi 1€ Tonyéjaj- 1)- gweés nyéi/k
E.  SM-Pres-know that T. SM-Pres-love him/her
‘Ewas; knows that Tony?é; likes himi/i’

c¢) Jack knows that Bill said that X is smart.
DIc¢’)*Ewasiai- n- yi 1€ Tonyéja- bi-kal 1€  nyé+medi/j/ka-n-yi jam
E. SM-Pres-know that T. SM-PST2-say that PRN.c1-REFL SM.c1-PRS-know thing

Dc”) Ewasiai- 1- yi 1€ Tonyéja;- bi- kil 1€ &i/j/x n- yi jam

E. SM-Pres-know that T. SM-PST2-say that SM-Pres-know thing

‘Ewas; knows that Tonygé; said that hei/j/k is smart’
Dc¢’’) Ewasjai- 1i- yi 1€ Tonyéjaj- bi- kil 1€ ny  &i/j/k n- yi jam

E. SM-Pres-know that T. SM-PST2-say that him/her SM-Pres-know thing

‘Ewas; knows that Tonyé; said that hei/j/k is smart’

d) Jack thinks that Lisa knows that Wendy likes X.
D1d’) Ewasi a- 13- hdpillé Tonyéja- n- yi 1€ Hjolka- 13-gwés nyéi/j/k/I
E. SM-Pres-think that T. SM-Pres-know that H. SM-Pres-like him/her
‘Ewas; thinks that Tonyé€j knows that Hjolk likes him/heri/j/i/\’
D1d’ Ewas; a- 1)- hinsllé Tonyéja- n- yi 1€ Hjolka- f-gwés nyé-medéi/j/x/1
E. SM-Pres-think that T. SM-Pres-know that H.  SM-Pres-like him/her-REFL
‘Ewas; thinks that Tonyé€j knows that Hjolk likes him/herselfi/j/x/i’

e) Jack thinks that Lisa knows that X likes Alice.
D1d”) Ewas; a- 1- hdndl 1€ Tonyga- n- yi 1 a&i/j/x §- gwés Hjol
E. SM-Pres-think that T. SM-Pres-know that SM-  Pres-like H.
‘Ewas; thinks that Tony€j knows that hei/j/k likes Hjol’
D1d”’) Ewas; a- 1§- h3ndl 1€ Tonyga- n- yi 1€ nyi/j/x ai/j/x - gweés Hjol
E. SM-Pres-think that T. SM-Pres-know that him/her SM-  Pres-like H.
‘Ewas; thinks that Tony€j knows that hei/j/k likes Hjol’
D1d””) Ewas; a- 10- h3ndl 1€ Tonyéja- n- yi 1€ nyé-medéi/j/x ai/j/x
E. SM-Pres-think that T. SM-Pres-know that him/her-REFL SM-
- gwes Hjol
Pres-like H.
‘Ewas; thinks that Tonyé€j knows that hei/j/k (in
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f) Sarah told Jack that Lisa loves X.
D1f’) Kondé;i a- bi- kal Bikiin; 1¢ Ewask a- 1- gwés nyé€i/j/x/i
K. SM-PST2-say B. that E. SM-Pres-like  him/her
‘Kondé; told Bikiin; that Ewask likes himi/ju/i’
D1f”) Kondéi a- bi- kal Bik(inj 1¢ Ewask a- 1)- gwés nyé-medéi/j/x/i
K. SM-PST2-say B. that E. SM-Pres-like  him/her
‘Kondé;i told Bik{in; that Ewask likes himself (in person)i/jx/i’
g) Sarah told Jack that X loves Wendy.
Dlg’) Kondéi a- bi- kal Bikin; ¢ nyé-medéi/j/xa- 13- gwés Ewas
K. SM-PST2-tell B. that PRN.c1-REFL SM-Pres-like  E.
‘Kondé;i told Bik{n; that himselfi/j/x (or himj/j/x in person) loves Ewas’
Dlg”)Kondéi a- bi- Kkal Bikiin; ¢ nyei/j/x & 1)- gwés Ewas
K. SM-PST2-tell B. that him/her SM-Pres-like E.
‘Kondéi told Bikinj that he i/j/x i/j/kloves Ewas’
D1h’) Kondéi a- bi- Kkal Bikin; 1  &i/j/x - gwés Ewas
K. SM-PST2-tell B.  that SM- Pres-like E.
‘Kondé;i told Bikiinj that hei/j/k i/j/loves Ewas’
Note that D1c’is not acceptable for the reasons mentioned above for D1a’. See also comments
below Dla in terms of phonological processes and interpretability alongside co-indexation. Also,
in D1d” we can see that the anaphor can corefer with not only all the names in the sentence, but
also, it can corefer with another discourse salient (given) name. In D1d”” we have an instance of
pro-drop in the lowest clause where what is realized is the subject marker. In D1d””” we have a
pronominal object ny(€) followed by the subject marker. Finally in D1d””” the anaphor nys-meds
in the embedded clause occupies the subject position and can have multiple coreferences. The
same multiple coreference is obtained in D1f”, D1 D1g’ D1g” and D1g’”.

D2a) Jack admitted that Mary loved X.
D2a’) Ewas; a- bi- nééfé 1€ Mariya; a- bi- gwés nyéi/x
E. SM-PST2-admit that M. SM-PST2-love him/her
‘Ewas admitted that Mary loved himy/;
D2a”) Ewas; a- bi- nééfé l¢ Mariyaj a- bi- gwés nyé-medéi/j/k
E. SM-PST2-admit that M. SM-PST2-love him/her-REFL
‘Ewas admitted that Mary loved himself; (Ewas in person);/k
Note that the anaphor nys-medsif/x can corefer with the matrix subject ‘Ewas’, the embedded
subject ‘Mary’ or another discourse salient ) known) name.
b) Jack suspected that Mary loved X. Difficult to process so far

Please also test adjuncts, such as those in (D3), where X = Jeff.
D3a) Jeff complained about Mary when Ella blamed X
D3a’) Ewas; a- bi-  tf¢l€l inud Mariyaji  ngeda Kondéka- bi- kond
E. SM-PST2-complain about M. LOC time K. SM-PST2-blame
nyé-medéi/j/x
him/her-REFL
‘Ewas;i complained about Mary; when Kondék blamed him(self)i/j/x’
D3a) Ewas; a- bi- tfélél fnud Mariyaji  ngeda Kondék a- bi- kond nyéi/i
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E. SM-PST2-complain about M. LOC time K. SM-PST2-blame him/her
‘Ewas; complained about Mary; when Kondék blamed himj/,’
b) Jeff returned home when/before/after X became tired.
D3b’) Ewas; a- bi- temb i mbay i ngeda nyé-medéi/; a- bi- wdd
E. SM-PST2-return LOC home LOC time him/her-REFL SM-PST2-tire
‘Ewas; returned home when hei/; (in person) tired’
D3b”) Ewas; a- bi- temb i mbay { ngeda nyi/ d4- bi- wda
E. SM-PST2-return LOC home LOC time him/her SM-PST2-tire
‘Ewas; returned home when hei/j(as opposed to the others) tired’
D3b’”’) Ewas; a- bi- temb { mbay { ngeda ai/j bi- wda
E. SM-PST2-return LOC home LOC time SM-PST2-tire
‘Ewas; returned home when hei/; tired’
Note that D3b has three possibilities and many interpretative properties. Note that the
interpretation in D3b” is that of contrastive topic. In other words, D3b” can be uttered in a
context whereby we have a list of ‘people including Ewas working at the farm for instance’. In
such a context, D3b” can be literally means that ‘Ewas, as opposed to the other workers’ returned
home when he tired’. Since it is the case that coreference can also hold between the pronoun and
another discourse name known in the context, the pronoun ny(€) will be contrasted to other
member of the same list. In this case, the sentence will become ‘Ewas; returned home when HE;
(e.g. Peter) tired.
c) When/before/after Mary wrote to X, Jeff returned home.
D3¢’) i mblis Mariyaia- bi- til- nd Kondé,ni nyéi/k a-ttmb {  mbay
LOC back M. SM-PST2-write-OBL K. and him/her SM-return LOC home
‘Kondéi immediately went home after Mary; wrote himi/ka letter’
D3c”) Kondéi a- bi- témb {  mbay i mblis Mariya; aj- bé aj- ma-
K. SM-PST2-return LOC home LOC back M. SM-be.PAST SM-COMPL
til-  na nysi
write-OBL him/her
‘Kondé€i immediately went home after Mary; wrote himi/ka letter’
Note that PAST and COMPL above stand for PAST TENSE and COMPLETIVE ASPECT
respectively. Also the adjunct clause / mbis Mariva a- be' a- ma-til-na ny&j/; ‘after Mary had
written her/him;;’ is a serial verb construction in which we have two subject markers which are
co-indexed with the lowest subject ‘Mary’ as expected.
d) Jeff left without Mary seeing X.
D3c¢’) Kondéi a- bi- ke ngi ni 1€ Mariya; 4j- té€hé nyé;
K. SM-PST2-leave without and that M. SM-see.SUBJ him
‘Kondéi left without Mary seeing him;’
e) Mary condemned Jeff without meeting X.
D3c¢”) Mariyai a- bi-  ndYos Kondé; ngi bomd nyéj/x
M. SM-PST2-condemn/punish K without meet him/her
‘Mary; condemned/punished Kondgj without meeting himj/x’
D3¢’’) Mariya; a- bi-  ndY¥ds Kondé ngi ni 1€ di/x bomd nyé€j/k
M. SM-PST2-condemn/punish K without and that SM-meet him/her
‘Mary; condemned/punished Kondéj without meeting himj/’ Literally: ‘Mary;
condemned/punished Kondé;j without Mary meeting him;j/k” OR ....without Kondé; her/himj/i’
D3c¢””) Mariya; a- bi-  ndYos Kdnd¢; ngi ni 1€ bai/k b5m-na
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M. SM-PST2-condemn/punish K without and that SM-/they meet-RCM
‘Mary; condemned/punished Kondg€j without meeting each other’
D3c¢’”””) Mariya; a- bi-  ndYos Kondé; b5  pgi b5m-nd 63 bHaa
M. SM-PST2-condemn/punish K them without meet-RCM them two
‘Mary; condemned/punished Kondé;j without the two of them meeting each other’
Note that D3¢’ and D3¢’ involve reciprocal readings. Also, I glossed bdi/x as ‘them or SM
simply because of the homophony between the subject marker and the accusative pronoun. The
interpretation according to which this SM or pronoun bdi/x corefer with any other plural name
(e.g. John and Peter) is possible. In this vein we will have the following: ‘Maryi
condemned/punished Kondé; without John and Peter meeting each other’. All the same, in
D3, it is possible to get the interpretation “Mary; condemned/punished Kond€; without both
John and Peter (for instance) meeting’.

4.2.1.2 Climbing from tensed complements - This test applies particularly to reflexives in close
association with a verb, either as affixes or clitic pronouns, but there are some languages where a
form of focus movement can place a more an argument-marked anaphor in a higher clause.

Not applicable

4.2.2 Long distance relations and the variety of clausal embedding types
Consider what a list of major clause embedding types in your language would include.
X12a) I hope [to leave]
X122’) Me mi- bitném 1€ me1-ke
I Pres-hope that I Pres-leave/go
‘I hope to leave’ Literally; ‘I hope that I (will) leave’
X12a”)Mem- bitném i- ke
I Pres-hope INF-leave/go
‘I hope to leave’
Note that X12a’ and X12” convey almost the same meaning.
I hope [for Bill to leave]
X12a’’)Meni- bitpném 1€  Ewasa- 1)- ke
I Pres-hope that Ewas SM-Pres-leave/go
‘I hope that Ewas (will) leave(s)’
I expect [Bill to be unpleasant]
X12a””)Me - bem 1€ Ewasa- béfél bot
I Pres-expect that Ewas SM-be unpleasant/disgust.SUBJ people
‘I expect Ewas to be unpleasant’

X127y Me mi- bem Ewas l€¢ a- béfél bot
I Pres-expect Ewas that SM-be unpleasant/disgust.SUBJ people
‘I expect Ewas to be unpleasant’

I persuaded Bill [to leave]
X12777) Me m- nééfa- ha Ewaslé & k& NB: Causative construction

I PSTl-agree/accept-CAUS Ewas that SM/he-leave.SUBJ

‘I persuaded Ewas to leave’ Literally: ‘I made Ewas to leave’

X127y Me m- bon- ha Ewas ¢ a& k& NB: Causative construction

I PSTI1-do/make-CAUS Ewas that SM/he-leave.SUBJ
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‘I persuaded Ewas to leave’ Literally: ‘I made Ewas leave’
b) I made [Bill leave]
X12b’)Men-  ki- hd Ewas NB: Causative construction
I PSTl-leave-CAUS Ewas
‘I made Ewas leave’
X12b”) Me m- b3y l¢é Ewas a- ké
I PSTI-do/make that Ewas SM-leave.SUBJ
‘I made Ewas leave’
c¢) I saw [someone leaving]
X12¢’) Me bi-  téhé ggimmut { 1- ke
I  PST2-see some man SM-PROG-leave
‘I saw someone leaving/going’
d) I require [that he speak softly]
X12d’) Mg bi- bat 1¢  a- pit mbenel NB: IMP stands for Imperative
I PST2-ask that SM/he-speak.IMP softy
‘I required that he speak sofly’
X12d”) Me bi- bat nyé 1€ a- pit mbenel
I  PST2-ask him/her that SM/he-speak.IMP softy
‘I required that he speak sofly’ OR ‘I asked him to speak sofly’
e) I consider [Bill unpleasant]
X12e’) Me 1)- yoqy Ewas kikii mut Bitémbé¢
I  Pres-take/consider Ewas as man lie (noun)
‘I consider Ewas as a liar’ OR ‘I consider Ewas a liar’
NB: Not possible to find the Basad adjective which translates as “‘unpleasant.

In providing data for infinitives (if your language has infinitives), and where X = Edgar, we want
you to give us a range of examples where the infinitive subject is not controlled by the matrix
subject.
D4a) Edgar asked Bill to trust X.
D4a’) Ewasija- bi- bat Kondéjlé &j/x- b6d-61 nyégi/x ném
E. SM-PST2-ask K. that SM-  trust-OBL him  heart
‘Ewas; asked Bill; to trust himi/x’
D4a’) Ewasia- bi- bat Kondéjlé 4j/x- b6d-61 nyé-medéi/k ném
E. SM-PST2-ask K. that SM- trust-OBL PRN.c1-REFL heart
‘Ewas; asked Bill; to trust himselfi/j/x’
D4a’”’) Ewasi a- bi- bat 1¢ Kondéja- bod-61 nyé-medéi/k ném
E.  SM-PST2-ask that K. SM- trust-OBL PRN.c1-REFL heart
‘Ewas; asked Bill; to trust himselfi/j/ki’ OR ‘Ewas; required that Bill; should
himselfi/j/k’ OR ‘Ewas; asked Bill; or someonex else to trust himselfi/j/x’
Note that in D4a’’) and D4a’” coreference operates in three ways as is shown by co-indexation.
Note that in D4a” the lexical complementizer /£ ‘that’ follows the embedded subject Konde
while in D4 the embedded subject Kond< follows it.
b) Edgar asked Bill to give a book to X.
D4b’) Ewasi a- bi- bat Kondéjlé &j/k-ti nyéi/j/x kaat
E. SM-PST2-ask K. that SM-give.SUBJ him book
‘Ewas; asked Bill; to give himk a book’
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D4b”’) Ewas; a- bi- bat 1¢ Kondé; a- ti nyé-medéi/j/x kaat
E. SM-PST2-ask that K. SM-give.SUBJ PRN.c1-REFL book
‘Ewas; asked Bill; to give himselfi/j/ k a book’
Note that the anaphor nys-meds above converys the meaning of ‘in person’. See also co-
indexation in order to see how far coreference operates. In D4b’ the embedded subject Kond&
precedes the lexical complementizer while in D4b” it rather follows it.
c) Edgar asked Bill to talk to X.
D4c’) Ewas; a- bi- bat Kondéjlé 4j/k- pdd- 6s nyéi/j/k
E. SM-PST2-ask K. that SM- speak-OBL him
‘Ewas; asked Kondéj to speak to himi/’ ‘OR Literally: ‘Ewas asked Kondé¢ that
someone else should speak to himi/i/\’
Dc”) Ewasia- bi- bat 1¢ Kondé a- pdd- d6s nyéi/j/k
E. SM-PST2-ask that K. SM-speak-OBL him
‘Ewas; asked Kondé; to speak to himi/k’ ‘OR Literally: ‘Ewas asked Kondé€ that

d) Edgar asked Bill to talk about X.
D4d’) Ewas; a- bi- bat Kondéjlé 4- pod-ol nyéi/x
E.  SM-PST2-ask K that SM-talk-OBL.SUBJ him
‘Ewas; asked Kondé;j to speak about himj/i’
D4d”) Ewas; a- bi- batlé Kondé 4- pdd-6l nyei/k
E. SM-PST2-ask that K. that SM-talk-OBL.SUBJ him
‘Ewas; asked Kondé; to speak about himselfi/x’
D4d”’) Ewas;a- bi- batlé Kondé a- po6d-ol nyé-medéi /j/x
E. SM-PST2-ask that K. that SM-talk-OBL.SUBJ PRN.c1-REFL
‘Ewas; asked Kondé; to speak about himselfi/x (in person)’

e) Edgar expected Bill to trust X.
D4e’) Ewasia- bi- bem 1€ Kondé a- 66dol ny€i/k p€ém
E SM-PST2-expect that K. SM-trust.SUBJ him heart
‘Ewas; expected Kondg; to trust himi/k’
D4e”) Ewasia- bi- bem Kondéjlé & b66dol  nyéi/kpém
E SM-PST2-expect K. that SM-trust.SUBJ him heart
‘Ewas; expected Kondg; to trust himi/k’
D4e’”) Ewasia- bi- bem Kondéjlé a- b6dol  nyé-medéi/k ném
E SM-PST2-expect K. that SM-trust.SUBJ PRN.c1-REFL heart
‘Ewas; expected Kondé; to trust himselfi/i’
Note that D4e’ and D4e” differ only on the position of the lexical complementizer. Sentence
D4e’” is anaphoric with three possible coreferences.

f) Edgar ordered Bill to pay X.
D4f’) Ewas; a- bi- ané Kodndéjlé a- saa nyéi/x
Ewas SM-PST2-order K. that SM-pay.IMP him
‘Ewas; ordered Kondé;j to pay himi/i’
The following sentence with borrowing from English is also possible. So the Basad item Jda
derive from the English verb ‘order’.
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D4f”) Ewas; a- bi- ti  Kondéjdda 1€ a- saa nyéi/x
Ewas SM-PST2-give K. that SM-pay.IMP him him
‘Ewas; ordered Kondé;j to pay himi/i’
g) Edgar ordered Bill to say that X was smart.
D4g’) Ewasi a- bi- ané Kondéjlé & Kkal 1€ ai/j-/xk  bé yi jam
E. SM-PST2-order K. that SM-say that SM/he/she-be.PAST.SUBJ know thing
‘Ewas; ordered Kondé; to say that hei/j/k was smart’
D4g”) Ewas; a- bi- ané Kondéji Kkal 1€ ai/j-/x  bé yi jam
E. SM-PST2-order K.  INF say that SM/he/she-be.PAST.SUBJ know thing

‘Ewas; ordered Kondé¢; to say that hei/j/x was smart’
NB: See coreference between the most embedded subject marker/pronoun ‘a-i/j/k‘(remember that
we already showed that both are homophonous in the language) and the NPs.
h) Edgar ordered Bill to say that Mary loved X.
D4’) Ewas; a- bi- ané¢ Kondéjlé & kal 1€ Mariyakak- bi- gwés nyéi/j-/i
E. SM-PST2-order K. that SM-say that M. SM-PST2-love him
‘Ewas; ordered Kondé; to say that Mariyak loved himi/j/x/i’
D4h”) Ewas; a- bi- ané Kondéj{ Kkal 1€ Mariyak ak- bi- gwés ny€i/j-/x
E. SM-PST2-order K. INF say that M. SM-PST2-love him
‘Ewas; ordered Kondé¢;j to say that Mariyak loved himi/j/\//’
If infinitives in your language permit lexical subjects, either by exceptional Casemarking, as in
(DS), or by a more general strategy (in English tied to the complementizer for) as in (D6), please
also provide examples of this type.
D5a) Edgar expects X to win.
D5a’) Ewas; a- mi- bB&m 1€ 4di/;- kdmdl
E. SM-Pres-expect that SM/he-win.SUBJ
‘Ewas expects himself to win’ / ‘Ewas expects someone else to win’
D5a”) Ewas; a- m- bBbém 1€ nyé-medéi/jai/;- kdmdl
E. SM-Pres-expect that PRN.c1-REFL SM/he-win.SUBJ
‘Ewas; expects himselfj to win’ / ‘Ewas expects someone else to win’
b) Edgar expects Bill to defeat X.
D5b’) Ewasi a- mi- bém 1€ Hjoljd4; yémbél nyé€i/k
E. SM-Pres-expect that H.  SM-defeat him
‘Ewas; expects Hjolj to defeat himi/x
D5b”) Ewas; a- ni- b&m 1€ Hjoljd; yémbél nys-med&i/j/i
E. SM-Pres-expect that H.  SM-defeat him
‘Ewas; expects Hjol;j to defeat himselfi/j/x
Note once more that the co-indexation used in the English translation for convenience (for
explanatory reasons).
D6a) Edgar hopes for X to win.
Dé6a’) Ewas; a- mi- b3tném 1€ aij- 1H- komol
E. SM-Pres-hope that SM/he-Pres-win
Literally:  ‘Ewas; hopes that hei/; (wins)/will win’
D6a”) Ewas; a- mni- b3tném 1€ nyé-meds/; ai/i- 1H- komol
E. SM-Pres-hope that PRN.c1-REFL SM/he-Pres-win
Literally: ~ ‘Ewas; hopes that himselfi/j (wins)/will win’
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b) Edgar hopes for Bill to defeat X.
D6b’) Ewasi a- mi- b3tpém 1€  Hjoljaj -  yémbél nyéi/k
E. SM-Pres-hope  that H.  SM-Pres-defeat him
‘Ewas; hopes for Hjolj to defeat himi/1’
D6b”) D5b’) Ewas; a- mni- bitném 1€ Hjolja; r1- yémbél nyé-medéi/i/i
E. SM-Pres-hope  that H.  SM-Pres-defeat PRN.cI1-REFL
‘Ewas; hopes for Hjol; to defeat himselfi/j/1’
If the coreferent nominal can be a possessive, provide also examples like the following:
D7a) Edgar expects Bill to defeat X's brother.
D7a’) Ewas; a- mi- bem 1€ Hjoljd; yémbél nani/i/
E. SM-Pres-expect that H.  SM-defeat.SUBJ mother
‘Ewas; expects Hjolj to defeat hisi/j/x mother’
D7a”) Ewas; a- mi- bem 1€ Hjoljdj yémbél nin wéi/j/x
E. SM-Pres-expect that H.  SM-defeat.SUBJ mother his
‘Ewas; expects Hjol; to defeat hisi/j/x mother’
NB: Note that when the item s1a ‘mother’ is used along with a possessive it conveys more the
meaning of social relationship (i.e. it means ‘his boss’) than of ‘kinship’ i.e. biological mother’.
The same holds for the item nsap ‘father’.
b) Edgar hopes for Bill to defeat X's brother.
D7b’) Ewasi a- m- b3tném 1€  Hjolja; n- yémbél pani//k
E. SM-Pres-hope  that H. SM-Pres-defeat mother
Literally: ‘Ewas; hopes that Hjol; defeats/will defeat hisi/j/k mother’
D7b”) Ewas; a- m- bitpém 1€ Hjolja; 1n- yémbél npan weéi/i/
E. SM-Pres-hope  that H. SM-Pres-defeat mother
Literally: ‘Ewas; hopes that Hjol; defeats/will defeat hisi/j/x mother’
See comments below D7a above for D7b’ and D7b”.
c) Edgar expects X's brother to defeat him.
D7¢’) Ewas; a- mi- bem 1€ pdpgi/k4j yémbél nyé€i/k
E. SM-Pres-expect that mother SM-defeat.SUBJ him
‘Ewas; expects hisi/k mother to deafeat himi/’
D7¢”) Ewasi a- mi- bem 1€ ndg  wé/; a; yémbél nyéi/
E. SM-Pres-expect that mother SM-defeat.SUBJ him
‘Ewas; expects hisi/k boss to deafeat himi/’
d) Edgar hopes for Bill to defeat X's brother.
I think D7d is the same as D7c above.

D5c) Edgar X-expects to win.
d) Edgar X-expects Bill to defeat.
NB: Sentences involving climbing such as D5 above are not possible in the language.

If your language permits small clauses, such as English John considers Mary intelligent,
where intelligent is thus predicated of Mary, then try the following tests, where X = Tom.
D8a) Tom considers X intelligent.
D8a’) Ewas; a- n- yon nyé-medéi/; kikil nyijam
E. SM-PRS-consider/take PRN.c1-REFL as  wise/intelligent
‘Ewas; considers himselfi/; intelligent’
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D8a”) Ewas; a- n- yon-ba (nyg-medégi/; ) kikii nyijam
E. SM-PRS-consider/take PRN.c1-REFL as  wise/intelligent
‘Ewas; considers himselfi/j intelligent’
NB: D8a” involves a reflexive structure with an optional anaphor as opposed to D8a’.
b) Tom considers Mary fond of X.
D8b’) Ewas; a- - yonq Hj5]; kikii ngwés nyéi/k
E. SM-Pres-consider/take H. as lover him
Literally: ‘Ewas; considers Hj3l; as hisi/k lover’
D8b”’) Ewas; a- 1i- yoq Hj5l; kikii mut nd  a- 1§- gwés nyéi/k
E. SM-Pres-consider/take H. as man REL SM-Pres-love him
‘Ewas; considers Hj3l; as someone who loves himj/i’
Note that both D8b’ and D8b”” have the same meaning. The difference is that in the latter case we
have a relative construction.
c¢) Tom considers Mary angry at X.
D8c’) Ewas; a- 1d- yoqy Hj5l; kikii mut ndi  a- 1)- Unbé- né€ nyéik
E. SM-Pres-consider/take H. as  man REL SM-Pres-be angry-OBL him
‘Ewas; considers Hjjl; as someone angry with himi/i’

4.2.3 Backwards anaphora
NB: Note that backwards anaphora is not possible in Basad. To illustrate this, consider the
ungrammatical D9a’ and D9b’ below.
D9a) That X was late upset Oliver.
D9a’)** 1€  nyé-medéia- bi- soY bImd (hdla)a- bi- hélés Kondé;
that PRN.c1-REFL SM-PST2-be late meeting (that) SM-PST2-surprise K.
“**That himself; was late at the meeting surprised Kondé;’
b) That X was late suggested that Oliver was guilty.
DOb’)** 1¢ nyéi a- bi- sdY  bImd (hdla)a- bi- hélés Kondé;
that him SM-PST2-be late meeting (that) SM-PST2-surprise K.
“**That him; was late at the meeting surprised Kondé;’
c¢) That X was late made Oliver look guilty.
d) That X was late implicated Oliver.

Section 4.3 Principle C-type effects
None of the following sentences below is acceptable in the language.
Ela) He criticized Malik.
b) He said Mariam criticized Malik.
c¢) He criticized the boy.
d) He said Mariam criticized the boy.
E2a) His mother criticized Malik.
b) His mother said Mariam criticized Malik.
¢) His mother criticized the boy.
d) His mother said Mariam criticized the boy.
E3a) The man who he liked criticized Malik
b) The man who he liked criticized the boy.
¢) The man who liked him criticized the boy.
None of the sentences in E4 are acceptable in the language.
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E4a) Malik criticized Malik.
b) Malik said Mariam criticized Malik.
c¢) The boy criticized the boy.
d) The boy said Mariam criticized the boy.
E5a) Malik’s mother criticized Malik.
Talking about Ewas, Ewas’s mother and some other person (s), the following sentence in E5a’
can be uttered.
E5a’)pdnyi  Ewasj a- bi- k3sé¢ Ewasj (ny€-medsj)
mother Ewas SM-PST2-criticize Ewas PRN.cl1-REFL
‘Ewas’s mother criticized Ewas (himself (in person))’
b) Malik’s mother said Mariam criticized Malik.
E5b’)nani  Ewasj a- bi- kil 1€ Hjolca- bi- kjsé Ewasj(nyé-medé))
mother Ewas SM-PST2-say that H.  SM-PST2-criticize Ewas PRN.c1-REFL
‘Ewas’s mother; said that Hjol criticized Ewas himself (in person)’
c¢) The boy’s mother criticized the boy.
E5c’)pdni  hildY4d; a- bi- kisé hildYa; (hjd+medé))
mother Ewas  SM-PST2-criticize Ewas PRN.cl1-REFL
‘The boy’s mother criticized the boy (himself (in person))’
d) The boy’s mother said Mariam criticized the boy.
E5d’)nani  hildYd; a- bi- kil 1€ Hjolka- bi- Kkjsé hildYdj (hjd+medé))
mother boy SM-PST2-say that H. SM-PST2-criticize boy PRN.cI-REFL
‘The boy’s mother; said that Hjol criticized the boy himself (in person)’
E6a) The man who Malik liked criticized Malik
b) The man who the boy liked criticized the boy.
c¢) The man who liked the boy criticized the boy.
None of the sentences in E6 is acceptable.
Now consider whether the boy = Malik for the following examples
E7a) The boy criticized Malik.
b) The boy said Mariam criticized Malik.
¢) Malik criticized the boy.
d) Malik said Mariam criticized the boy.
E7 is not acceptable.
E8a) The boy’s mother criticized Malik.
b) The boy’s mother said Mariam criticized Malik.
c¢) Malik’s mother criticized the boy.
d) Malik’s mother said Mariam criticized the boy.
Not acceptable
E9a) The man who the boy liked criticized Malik
b) The man who Malik liked criticized the boy.
¢) The man who liked Malik criticized the boy.
d) The man who liked the boy criticized Malik
Not acceptable

4.4 More on long distance anaphor strategies

Strategies that allow coreference across tensed clause boundaries, but where the marked
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argument is one that is not a typical pronoun, we will call "long distance anaphor strategies",
hereafter, LDA strategies.
D10) John believes he is guilty.

D10a’) Ewas; a- 1f- hdpdllé aij- ye hihoha

Ewas SM-Pres-think that SM/he-be.Pres fault/mistake

‘Ewas; thinks that hei/; is guilty.’
D10a”) Ewas; a- 1f- hjnjllé nys-medéi/j aili-  ye hihoha

Ewas SM-Pres-think that PRN.c1-REFL SM/he-be.Pres fault/mistake

‘Ewas; thinks that himself; (Ewas or any other presupposed discourse name in person) is
guilty.’
Note that coreference can hold between the subject ‘Ewas’ and the SM/pronoun or between
another discourse salient name and the SM/pronoun. Recall that Basad is pro-drop in such a way
that the SM helps recover the meaning of the dropped subject even though in a serial verb
construction such as D10a’ the lexical subject ‘Ewas’ can never realize in the embedded clause
i.e. before the SM a-.

4.4.1 Position of the antecedent - Long-distance coreference is often constrained in ways that
local coreference is not (especially: subject-orientation). Which possible syntactic positions can
be occupied by a long-distance antecedent of the current strategy? Construct examples and give
judgments where X = Zeke.. In English, the independent pronoun strategy is all that works for
these (i.e., where X= he or him). If your language is like English, then the reflexive form does
not work in the position of X where X=Zeke. If your language does not use the simple
independent pronoun, but another form, be sure to show not only the form that works, but the
one that doesn’t.

NB: As usual co-indexation in the English translation is simply explanatory (indicative).

D11a) Larry told Zeke that Mike does not like X.
Dl1la’) Ewasja- bi- kal Kondéjlé Hjolka- 13- gwés béé nyéi/j/i
E. SM-PST2-tell K that H.  SM-Pres-like  NEG him
‘Ewas; told Kondé; that Hjolk does not like himi/j/i’
Dl1la”) Ewasia- bi- kal Kondéjlé Hjolk a- 13- gwés béé nyé-medéi/j/i
E.  SM-PST2-tell K that H.  SM-Pres-like NEG PRN.c1-REFL
‘Ewas; told Kdndé; that Hjolk does not like himselfi/j/i/1’

Dl11a”’) Ewas; a- bi- kal Kondéjlé Hjolka- 1- gwés-ba béé (nyé-medéx)
E.  SM-PST2-tell K that H.  SM-Pres-like- REFL NEG PRN.c1-REFL
‘Ewas; told Kondé; that Hjolk does not like himselfi’
Note that in the reflexive strategy i.e. in D11a’” the anaphor is optional and coreference holds
only between the anaphor and the most embedded subject namely Hjol.
b) Zeke told Larry that Mike does not like X.
D11b’) Ewas; a- bi- kal Kondéjlé Hjolka- - gweés béé nyéi/i/i
E. SM-PST2-tell K that H.  SM-Pres-like NEG him
‘Ewas; told Kondé;j that Hjolk does not like himi/j/i’
DI11b”’) Ewas; a- bi- kal Kondéjlé¢ Hjolka- 1§- gwés béé nyé-medéif/i/
E. SM-PST2-tell K that H.  SM-Pres-like NEG PRN.c1-REFL
‘Ewas; told Kondé;j that Hjolk does not like himi/j/i’
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c) Zeke told Larry that X does not like Mike.
Dl11c’)** Ewas; a- bi- kal Kondéjlé Ewasia- 1)- gwés béé Hjolk
E. SM-PST2-tell K that E. SM-Pres-like  NEG H.
“**Ewas; told Kondgj that Ewasi does not like Hjoly’
Dllc”) Ewas; a- bi- kal Kondéjlé nyé-medéi/i/c a- 1)- gwés béé Hjsl
E. SM-PST2-tell K that PRN.c1-REFL SM-Pres-like NEG H.
‘Ewas; told Kondéj himselfi/j/k does not like Hjol’
Dl11c’) Ewas; a- bi- kal Kondéjlé nyéi/j/k a- - gweés béé Hjdl
E. SM-PST2-tell K that him  SM-Pres-like NEG H.
‘Ewas; told Kondé; hei/j/k does not like Hjol’ Literally: “Ewas; told Kondé; hei/;j/x (as
opposed to the other(s) does not like Hjol’
Dl1l1c””) Ewas; a- bi- kal Kond§jlé ai/ik - )- gwés béé Hjdli
E. SM-PST2-tell K that SM/he-Pres-like = NEG H.
‘Ewas; told Kondéj hei/j/x does not like Hjol”
Note that in D11c¢’” we have a contrastive topic reading i.e. a context in which the element (here
the pronoun ny&) is contrasted is contrasted with other members of the same list.
d) Larry told Zeke that X does not like Mike.
D11d’) Hjdli a- bi- kal Ewasj 1€ Ewasj a- 13- gwés béé Kondék EMPHATIC
H. SM-PST2-tell E. that E. SM-Pres-like NEG H.
‘Hjol; told Ewas; that hej (Ewas) does not like Kondéx’
Note that cases like D11d” are used in emphatic constructions, for instance when the speaker
wants to make the subject (here Ewas) salient.
D11d”) Hjli a- bi- kal Ewas;l€é ai/ji- 1)- gwés béé Kondéx
H. SM-PST2-tell E.  that SM/he -Pres-like NEG H.
‘Hjol; told Ewas; that hej (Ewas) does not like Kondéx’
‘Hjol; told Ewas; that hei/j/x does not like Kondér’
e) Larry knows that Zeke thinks that Mike does not like X.
Dl1le’) Hjoli a- n- yi 1¢ Ewasja- 1- hindllé Kéndéka- 13- gwés béé nyéi/j/i
H. SM-Pres-know that E. SM-Pres-think that K. SM-Pres-like  NEG him
‘Hjol; knows that Ewas; thinks that Kondék does not like himy/j/i’
DI11e”?? Hjol; a- n- yi 1¢ Ewasja- 1)- hjndllé Kondéka- 1- gweés béé Ewas;
H. SM-Pres-know that E. SM-Pres-think that K. SM-Pres-like NEG him
“**Hjol; knows that Ewas; thinks that Kondé&k does not like Ewas;’
Note that D11e” can be used as an explanatory sentence i.e. when the speaker wants to explain
what s/he has said before clearly. This happens if the speaker first produce an ambiguous
sentence such as D1le’ with a pronoun corefering with more than one name. In this case the
hearer might notbe able to interpret the sentence, then the speaker produces D11e” in order to
disambiguate D11e’.
DI11e’”) Hjol; a- n- yi 1¢ Ewasja- 13- hjnjllé
H. SM-Pres-know that E. SM-Pres-think that
Kéndéka- 13- gweés béé nyé+médéi/j/x/1
K. SM-Pres-like NEG PRN.c1-REFL
Literally: ‘Hjoli knows that Ewas; thinks that Kond€&k does not like himselfi/j/1’
f) Zeke knows that Larry thinks that Mike does not like X.
DI11f’) Ewasia- d- yi 1€ Hjdolja- 1- hindllé Kéndéka- 1- gwés béé nyéi/j/i
E SM-Pres-know that H ~ SM-Pres-think that K. SM-Pres-like  NEG him
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‘Ewasi knows that Hjol; thinks that Kéndé€k does not like himi/i/\’
DI11f7?? Ewasia- n- yi 1€ Hjolja- 1)- hindllé Koéndéka- 1)- gwés béé Ewasi
E SM-Pres-know that H ~ SM-Pres-think that K. SM-Pres-like NEG E.
“**Ewasi knows that Hjol; thinks that Kdndé€k does not like Ewas;’
See comment below D11e” to understand D11f” and D11{>
DI11f”) Ewasia- n- yi 1é¢ Hjolja- 1- hdpdllé
E SM-Pres-know that H =~ SM-Pres-think that
Kéndéka- 1- gwés béé nyé-medéi/j/x/i
K. SM-Pres-like  NEG PRN.c1-REFL.
Literally: ‘Ewas knows that thinks that does not like himselfi/j/x/1’
D12a) Zeke's mother thinks that Mike does not like X.
Dl2a’) [pay  Ewasi]j a- 13- hipdllé Kondéka- 1)- gwés béé Ewasi
mother E. SM-Pres-think that K. SM-Pres-like NEG E.
**[Ewas;’s mother]; thinks that Kondéx does not like Ewas;’
See also comment below D11e” to understand D11f” and D11£™
b) Zeke's mother thinks that X does not like Mike.
DI2b’) [nydy  Ewasi]ja- 1- hindllé Ewasia- 1)- gweés béé Kondéx
mothe E. SM-Pres-think that E. SM-Pres-like NEG K.
‘[Ewas;’s mother]; thinks that Ewasi does not like Kéndéx’
DI12b”) [pay Ewasilj a- 1- hdpdllé 47?7%/j/k- 1- gweés béé Kondéx
mothe E. SM-Pres-think that SM/he- Pres-like NEG K.
“??7[Ewas;’s mother]; thinks that Ewasi does not like Kondéx’
‘[Ewas;’s mother]; thinks that s/he;j/1 does not like Kondéx’
NB: Note that D12b’ is fully acceptable in Basad. As can be seen from the translation in D12b”,
if the dropping of ‘Ewas’ in the embedded clause leads to illicitness if the SM corefers with
‘Ewas’ (see ?? behind the index ;). But if the same SM corefers with any other name, the
sentence is correct.
c¢) Zeke thinks that Mike does not like X.
D12¢’) Ewas; a- 1)- hjpsllé Kondé a- 1§- gwés béé nyéi/k
E. SM-Pres-think that K. SM-Pres-like NEG him
‘Ewas; thinks that Kdndé&;jdoes not like himix’
Dl12c”) Ewas; a- §- hjnsllé Koéndé a- 13- gwés béé nyé-medéi/j/k
E. SM-Pres-think that K. SM-Pres-like NEG PRN.c1-REFL
‘Ewas; thinks that Kondé;j does not like himselfy/j/i’
DI12¢’) Ewas; a- 1- h3ndllé Koéndé a- 13- gweés béé Ewasi
E. SM-Pres-think that K. SM-Pres-like NEG E.
‘Ewas; thinks that Kondg;j does not like Ewas;’
Note that D12¢” can be uttered for reasons already given above i.e. when the hearer did not
successfully process D12¢’ or D12¢”.
d) Zeke's letter said that Mike does not like X.
D12d’) Kaat Ewas;i- bi- pit 1€ Kondé€ja- 1- gweés béé nyéi/k
letter E.  SM-PST2-tell that K. SM-Pres-like NEG him
‘Ewas;’s letter said that Kéndé&j does not like himi/i’
D12d”) Kaat Ewas;i- bi- p3t 1¢ Kond&ja- 13- gwés béé nyé-medéi/x
letter E.  SM-PST2-tell that K. SM-Pres-like  NEG PRN.c1-REFL
‘Literally: ‘Ewas;’s letter said that Kond€;j does not like himselfi/j/x’
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DI12d’”) Kaat Ewas;i- bi- pjt 1¢ Kondéja- 1- gwés béé Ewasi
letter E.  SM-PST2-tell that K. SM-Pres-like NEG E.
Literally: ‘Ewas;’s letter said that Kondé€j does not like Ewas;’
The comment above i.e. below D12c holds for D12d.
e) Zeke heard that Mary did not like X.
D12¢’) Ewasia- bi- njY 1¢ Kondéja- 1§- gwés béé nyéi/k
E. SM-PST2-hear that K. SM-Pres-like  NEG him
‘Ewas; heard that Kéndé; does not like himi/k’
D12¢”) Ewasia- bi- nj3Y 1€ Koénd&a- 1- gweés béé nyé-medéi/
E. SM-PST2-hear that K. SM-Pres-like  NEG PRN.c1-REFL
Literally: ‘Ewas; heard that Kéndé;j does not like himselfi/i’
f) Zeke was told that Mary did not like X. (if your language permits passive)
The following examples are correct. Note also that INDEF stands for ‘INDEFINITE’ (indefinite
pronoun of course) like the French ‘ON’ while Expl. Stands for EXPLETIVE.
D12f”) b4 bi- kal Ewas;1¢ Kondé&ja- 1)- gwés béé nyéi/x
INDEF PST2-tell E. that K. SM-Pres-like  NEG him
‘Ewas; was told that does not like himi/x’
Literally: ‘They told Ewas; that Kond§€j does not like himi/x’
DI12f) i bi-  kel-d Ewas;1¢ Kondéja- 13- gwés béé nyéi/x
Expl. PST2-tell-PASS E.  that K. SM-Pres-like  NEG him
‘Ewas; was told that does not like himj/x’
‘It was told to Ewas; that Kondé; does not like himi/i’
D13a) Zeke said that X had dressed X.
D13a’) Ewas;a- bi- kal 1¢ Koéndé€j nyé-medg nyéi-n a- bi- epng- ba
E. SM-PST2-say that K. PRN.c1-REFL  AGR-FOC SM-PST2-dress-PASS
‘Ewas said that Kond§€j dressed himselfj Literally: ‘Ewas said that it is Kondég; himself;
who dressed dressed’
D13a”) Ewas;a- bi- kal 1¢ Kondé& a- bi- eng- bd (nys-meds;)
E. SM-PST2-say that K SM-PST2-dress-PASS PRN.c1-REFL
‘Ewas; said that Kondég; dressed himself;
Keep in mind that D13a’ involves a focus construction which can be translated as a cleft. As
already said before, AGR stands for AGREEMENT and encodes class agreement with the
focused element. Here again, AGR is homophonous with the accusative pronoun.
b) Zeke said that X had wounded X.
D13b’) Ewas;a- bi- kal 1¢ Koénd& a- bi- béépd (nyé-meds;)
E.  SM-PST2-say that K SM-PST2-wound.REFL PRN.c1-REFL
‘Ewas; said that Kdnd€&j wounded himself;’
D13b”) Ewasi a- bi- kal 1¢ Koéndé nys-medég; nyéj-n a- bi- bééPa
E. SM-PST2-say that K PRN.c1-REFL AGR-FOC SM-PST2-
wound.REFL
‘Ewas; said that Kondé€j wounded himself; (nobody wounded him)’
Note here that D13a’ contains an ‘inherent’ reflexive verb in the language namely beefa “wound
oneself” with an optional anaphor while D13b” involves a focus construction.
¢) Zeke said that X had tatooed X.
D13¢’) Ewasia- bi- kal 1¢ Koénd§ a- bi- wat-Bd (nys-medg;)
E. SM-PST2-say that K SM-PST2-scratch-REFL PRN.c1-REFL
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‘Ewas; said that Kdnd§;j tatooed himself;’

D13c¢”) Ewas;a- bi- kal 1¢ Kond& nyé-medg nyéi-n a- bi- wat-a

E. SM-PST2-say that K PRN.cl-REFL ~ AGR-FOC SM-PST2-scratch-
REFL

‘Ewas; said that Kdndé;j tatooed himself;’
For D13c above, see comment below D12b. The only difference is that in D13¢” we have an
overt reflexive morpheme while in D12b” and b the verb beeffa ‘wound oneself”’ is inherently
reflexive.
Consider potential antecedents in other non-subject syntactic positions, as allowed by your
language (e.g., in English, John related to Bi// that Mary had slandered Aim where Bill = him).

4.4.2 Antecedent properties

4.4.2.1 Person - Please replace Zeke in the Zeke paradigm of 4.4.1 with first and second person
pronouns, and report the results. Even if most of the examples pattern exactly as third person
cases do, please be careful to include sentences corresponding to (D13) in the Zeke paradigm.

4.4.2.2 Quantified antecedents - Review the examples in the Jack, Zeke and Edgar paradigms,
replacing these names with "every child" and "no child" or "many children". Report all examples
that differ in acceptability from the examples you have already provided for those paradigms. If
there are no differences, just provide a few representative examples.

Note: Try overt and null pronouns as the coreferent NP if your language has both.

4.4.2.3 Split antecedents - Sometimes coreference is permitted when the antecedents for the
anaphor or pronoun are separate arguments. Please provide examples that correspond to those in
the Ozzie (male) and Harriet (female) paradigm. In all cases, X = Ozzie and Harriet (together).
For example, in English, (D14d) would be "Ozzie told Harriet that Bill dislikes them," where
them would be Ozzie and Harriet.

D14a) Ozzie talked about Harriet to X.
b) Ozzie talked about X to Harriet.
Note that D14a and b are not applicable in Basad.
c¢) Ozzie told Harriet that X should leave.
Dl4c’) Ewasa- bi- kal Kondé1é  ba ké-  n- gy
E SM-PST2-tell K. that SM/they leave-EPTH-SUBJ
‘Ewas told Kondé that they ( (Ewas and K together)/other persons) should leave.’
D14c”) Ewasa- bi- kalKondé1¢ b5 bda ba- ké-  n- £y
E SM-PST2-tell K. that them two SM/they leave-EPTH-SUBJ
‘Ewas told Kondé that they ( (E. and K. together)/other persons) should leave.’
‘Literally: Ewas told Kondé€ that both of them (E. and K.)/ two other persons and should
leave’
d) Ozzie told Harriet that Bill dislikes X.
D14d’) Ewas a- bi- kalKondé1¢ Hjola- 1- 20 b3
E. SM-PST2-tell K  that H. SM-Pres-dislike them
‘Ewas told Kondé¢ that Hjol dislikes them (E. and K)/ other persons’
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D14d”) Ewas a- bi- kalKondélé Hjola- - o0 b3 baa
E. SM-PST2-tell K that H. SM-Pres-dislike them two
‘Ewas told Kondé¢ that Hjol dislikes both of them (E. and K)/ two other persons’
e) Ozzie said that Harriet thinks that Bill dislikes X.
Dl4e’) Ewas a- bi- kal 1€ Kondéa- 1- hdndl 1€ Hjpla- - 20 b3
E. SM-PST2-say that K. SM-Pres-think that H. SM-Pres-dislike them
‘Ewas said that Kondé€ thinks that Hjol dislikes them (E. and K.)/other persons’
Dl14e”) Ewas a- bi- kal 1¢ Kondéa- 13- hjnsl 1€ Hjola- 1§- oo b5 baa
E. SM-PST2-say that K. SM-Pres-think that H. SM-Pres-dislike them two
‘Ewas said that Kondé€ thinks that Hjol dislikes both of them (E. and K.)/two other persons’

4.4.2.4 Discourse antecedents - Sometimes, LDA strategies do not have to have antecedents in
the same sentence if the discourse connections between sentences is strong. Please translate the
following scenarios using only the acceptable strategies that permit the corresponding English
pronouns all to refer to Mark (English allows only the independent pronoun strategy).
D15) Mark feared that his son was not safe. He was ashamed that he could not
protect his closest relative. What would his cousins think of him?
D15a) Ewas;a- bi- kon winilé 15y yé i- bé likala libe,
E. SM-PST2-fell sick fear that son his SM-be.PAST scale bad/serious
ai- bé w)puu 1€ ai- ga- la bHbéé tit mut wéi nuu.
he-be.past die body that SM/he-FUT2-can NEG protect person his body
BiloY Bi pan (gwéi) Bi- ga&- yony  1ad nyéi
brothers his  SM-FUT2-consider how him
‘Ewas feared that his son was in a bad situation, he was ashamed that that he would not protect a
person/relative of his. How will his brothers consider him?’
D16) Mark was shocked to see his picture in the paper. All of his supporters would
abandon him. How would he tell his mother?

Dl6a) Ewas;a- bi- hél titli  yéi i- ye i pépa.
E.  SM-PST2-be surprise picture his SM-be.Pres LOC paper
Mawanda méi mdmaséna ma-n- la tf6  nyé& ai- ga- kallda pan;
friends his all SM-Pres-can abandon him he/SM-FUT2-tell how mother

‘Ewas;i was surprise to see his; picture in the paper. All his; friends would abandon him;. What
would he; tell his; mother’
The following scenario concerns what Morris is reporting to us about Mark, where all of the
English pronouns are understood as referring to Mark, not to Morris. Please translate using any
(or every) strategy for coreference with Mark that works (including the independent pronoun
strategy). Then give please tell us which strategies do not work, providing a translation and
gloss, if it is significantly different from your acceptable translations of (D17). If your language
permits null subjects understood as pronouns, don’t forget to consider that strategy.
Note that in D16a above we have a pro-drop case in which the subject marker (SM) helps
recover the missing NP subject (Ewas).
D17) Morris said it was a difficult day for Mark. First, Morris told him that his car
had been stolen. Then he had to hire a taxi to take him to work. Morris
thought he might be angry.
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D17) Ewas; a- - kal 1€ 1&n; a- baY Hjolc k€l iB€ PAY, ai/k- 1- kal nyék/1 1€
E. SM-PSTI1-say that today SM-be.PAST H. day bad first SM/he-PST1-tell him that
litowa jéi/k 1i- n- nip- 4 { mbds hdla, a-lamga 1€
car  his SM-PSTl1-steal-PASS LOC back that SM-have to.PAST that

de- p5  litowalipé¢ i- ke-na nys&k i  homansin
SM/he-borrow car  another INF-go-OBL him LOC place work
Ewasa- hjpl- aY 1€ a- ga- undp
E. SM-think-PROG that SM/he-FUT2-get angry
‘Ewas; said that today was a bad day for Hjolk. First, he; (Ewas;) told himk that hisi/k car had
been stolen. Then (after that), hei/x had to borrow another car to take him to work. Ewas; thought
that he; would get angry.’

Now suppose that Mark has recently been in the news and he is the topic of our conversation.

Speakers A and B use pronouns to refer to him. Please translate using the strategy or strategies in

your language that permit coreference with Mark. Once again, please tell us which strategies do

not work, providing a translation and gloss, if it is significantly different from your acceptable
translations of (D18).

D18) A: Look, there's Mark!
D18a) bengé ki, Ewasi nuu; (no3)
look.IMP.2pers.sg a little bit Ewas DEM.DIST.LOC over there (reinforcer)
‘Look a little bit, there is Ewas!’ Literally: ‘Look, over there is Ewas!’
Note that in D18a, DEM stands for DEMONSTRATIVE, DIST for DISTAL and LOC for
locative. Note that in Basad DI18a is a presentative construction which always involves
demonstratives depending on the position of the object of reference. The demonstrative always
agrees in class with the object it locates. Reinforcers change according to the position (proximal,
distal etc).
B: He is so handsome.
DI18a) aj- ye nldm 1¢/nganday
SM-he-be.Pres handsome so/very
‘He; is so handsome’
A: I would not want to be his wife though. All the women are chasing him.
DI18a””) Me gd- gwés béé bd  wdd (wé) bodaa b5basona ba-1i-gwés nyé;
I FUT2-like NEG be.INF wife his women all SM-Pres-like him
‘I will not want to be his wife; All the women like him;’

B: Also, I think he praises himself too much.
D18a) Ni 1€ men-hdnil 1€ a- - henbalé /nganday
and that I Pres-think that SM-he-Pres-boast so/a lot
‘In addition, I think, hei shows up a lot’
In considering your responses to this subsection, are there any generalizations that you
think would be of interest to us in understanding the circumstances or nuances of meaning that a
given choice of coreference strategy might reflect?

4.4.3 Blocking Effects

The agreement features of nominals intervening between an anaphor and its antecedent
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can sometimes affect the grammaticality of coconstrual in some languages.

4.43.1 Features of intervening subjects - The following examples test for an intervening subject
that is mismatched for person, gender, or number.
D19a) Larry thinks that John respects X.
D192a’) Ewas; a- 1)- hjpsllé Kondé a- d- ti nyéi/k lipém
E. SM-Pres-think that K SM-Pres-give him  respect
‘Ewas; thinks that K respects himj/i’
D19a”) Ewas; a- 1- hinsllé Kondé; a- - ti nyé-medéi/j/xlipém
E. SM-Pres-think that K SM-Pres-give PRN.c1-REFL respect
‘Ewas; thinks that K respects himselfi/j/x’
b) Larry thinks that I respect X.
D19b’) Ewas; a- 1)- hinillé me n- ti nyéi/x lipém
E. SM-Pres-think that I Pres-give him  respect
‘Ewas; thinks that I respect himj/;’
D19b”) Ewasi a- 1- hdpillé me - ti nys-medéi/j lipém
E. SM-Pres-think that I Pres-give PRN.cI-REFL respect
‘Ewas; thinks that I respect himselfi/;’
c) Larry thinks that Mary respects X.
Please see sentences D19a’ and a” above. There is no gender mismatch.
d) Larry thinks that the boys respect X.
D19d’) Ewas; a- 1- hipdllé dildY4; di- n- ti nyéi/x lipém
E. SM-Pres-think that boys SM-Pres-give him respect
‘Ewas; thinks that the boys respect himi/x’
D19d”) Ewas; a- 1)- hdnsllé dildYd; di- - ti nyé-medéi/x lipém
E. SM-Pres-think that boys SM-Pres-give PRN.c1-REFL respect
‘Ewas; thinks that the boys respect himself (in person)y/x’

e) The men think that the boys respect X. (X = the men)
D19¢’) booldm; bd- 13- hdndl 1€ dildY4d di- n- ti  BJi/x lipém
men  SM-Pres-think that boys SM-Pres-give them respect
‘The men; think that the boys respect themi/x’
D19¢’) booldm; ba- 13- hdnsdl 1€ dildY4 di- n- ti  63+medéi/j/k lipém
men  SM-Pres-think that boys SM-Pres-give PRN.c2-REFL respect
‘The men; think that the boys respect them+selves (in person)i/’
Same tests, with the intervening subject in an intermediate clause:
D20a) Larry thinks that Bill knows that Dave respects X.

D20a’) Ewasia- 1- hindllé Hjolja- d- yi 1€ Kondék a- d- ti nyé&i/j/)lipém

E. SM-Pres-think that H.  SM-Pres-know that K. SM-Pres-give him  respect
‘Ewas thinks that Hjolj knows that Kondéx respects himi/j1’

D20a”) Ewas;a- 1)- hindllé Hjolja- d- yi 1¢ Kondék a- n- ti nyé-medéi/i/ii
E. SM-PRS-think that H.  SM-Pres-know that K. SM-PRS-give PRN.c1-REFL
lipém
respect

‘Ewas thinks that Hjolj knows that Kondé€x respects himself (in person)i/ji/
b) Larry thinks that I know that Dave respects X.
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c¢) Larry thinks that Mary knows that Dave respects X.
Please, for D20b-c, see D20 above. No person/number/gender mismatch.
d) Larry thinks that the boys know that Dave respects X.
D20d’) Ewas; a- 1- hinsllé dildya di- n- yi 1€ Kondék a- n- ti
E. SM-Pres-think that boys SM-Pres-know that K. SM-Pres-give
ny€i/i  lipém
him  respect
‘Ewas; thinks that the boys know that Kondék respect himi/i’
D20d”) Ewas; a- 1- hinsllé dildY4;di- n- yi 1¢ Kondék a- d- ti
E. SM-Pres-think that boys SM-Pres-know that K. SM-Pres-give
nyé-medéi/k/i lipém
PRN.c1-REFL respect
‘Ewas; thinks that the boys know that Kondék respect himself (in person)i/i’
e) The men think that the boys know that Dave respects. (the men = X)
D20¢’) boolom; ba-1)- hindl 1€ dildYd di- - yi 1€  Hjolka- n- ti
men  SM-Pres-think that boys SM-Pres-know that H.  SM-Pres-give
b3i/1 lipém
them respect
‘The men; think that the boys; know that Hjolk respects themi/y’

D20¢’) boolom; ba-1)- hindl 1€ dildYd di- - yi 1€  Hjolea- n- ti
men SM-Pres-think that boys SM-Pres-know that H.  SM-Pres-give
b5m+medéi/j/1 lipém
them respect
‘The men; think that the boys; know that Hjolk respects themselvesi/’
4.4.3.2 Positions of the intervener - The above interveners were subjects (the most common
case). We now look for interveners in other positions.

D21a) Walter thinks that Bill told Harry that Dave respects X.
D21a’) Ewas; a- 13- hjpil 1€ Hjolja- bi- kal Kondék €
E. SM-Pres-know that H.  SM-PST2-tell K. that
Bikinia- n- ti nyéi/j/k/mlipém
B. SM-Pres-give him respect
‘Ewas; thinks that Hjol; told Kdndék that Bikiini respects himi/j/i/m’
D21a’) Ewas; a- 1)- hjndl 1€ Hjolja- bi- kal Kondéxklé
E. SM-Pres-know that H. SM-PST2-tell K. that
Bik(inia- n- ti nyé-medéi/j/x/i/m lipém
B. SM-Pres-give PRN.c1-REFL respect
‘Ewas; thinks that Hjol; told Kondék that Biktini respects himself (in person)i/;/i/i/m’
b) Walter thinks that Bill told me that Dave respects X.
D21b’) Ewas; a- 1)- hjndl 1€ Hjolja- bi- kal mé¢ 1€
E. SM-Pres-think that H.  SM-PST2-tell me that
Bikiinka- n- ti nyéi/j/1 lipém
B. SM-Pres-give him respect
‘Ewas; thinks that Hjol; told me that Bik{ink respects himi/j/\’
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D21b”) Ewas; a- 1)- hjndl 1€ Hjolja- bi- kal mé 1€
E. SM-Pres-think that H.  SM-PST2-tell me that
Bikiinka- n- ti nyé-medéi/j/x/1 lipém
B. SM-Pres-give him respect
‘Ewas; thinks that Hjol; told me that Bik{ink respects himself (in person)i/j/\’
c) Walter told me that Dave respects X.
D21c¢’) Hjol; a- bi- kal mé 1€ Bik(nja- n- ti nyéi/i lipém
H. SM-PST2-tell me that B. SM-Pres-give him  respect

‘Hjol; told me that Bik{in;j respects himi/y’
D21c”) Hjol; a- bi- kal mé 1€ Bik(nj a- n- ti nyé-medéi/j/x/1 lipém
H. SM-PST2-tell me that B. SM-Pres-give PRN.c1-REFL respect
‘Hjol;i told me that Biki{in;j respects himself (in person) i/jx/i’
d) Walter said that Dave gave me a book about X.
D21d’) Hjol; a- bi- kal 1¢ Biklnja- bi- ti nyéi/i kaat i i- rh- pod-o6l
H. SM-PST2-say that B. SM-PST2-give him  book REL SM-Pres-talk-OBL
nyéi/j/1
him
‘Hjol; said that Bik{inj gave himi/; a book about himj/j/\’
D21d’) Hjol; a- bi- kal 1¢ Biklnja- bi- ti nyéi/i kaat i i- rh- pod-o6l
H. SM-PST2-say that B. SM-PST2-give him  book REL SM-Pres-talk-OBL
nyé-medéi/j/1
PRN.c1-REFL
‘Hjol; said that Bik{in; gave himj/; a book about himself (in person)i/j/i’
4.4.4 Islands
Do syntactic islands affect the acceptability of the current strategy? For all the examples
in this section, Ira = X. As in 4.3, if the independent pronoun strategy is all that works, please say
so, translate, and move on, but if more than one strategy works, please let us know which ones
do. Also, if your language permits more than one type of pronoun, be sure to test both kinds
(including null arguments interpreted pronominally).

D22a) Ira resents the fact that Mary hates X.
D22a’) **Ewas; a- pf-gwés { ndp und l¢ Kondéa- - 25 nyéi/j/
E. SM-Pres-like DEF news DEM that K. SM-Pres-hate him
‘Ewas; likes the news that Kondé¢; hates himy/j//’
b) Ira respects the man who likes X.
D22b’)Ewas; a- n- ti 1 mut mi a 1- gwés nyéi/j lipém
E. SM-Pres-give DEF person REL SM-Pres-like him respect
‘Ewas; respects the man who likes himj/j’
D22b”’) Ewas; a- - ti [ mut mi]j; a- 1)- gweés nyé-medéi/j/x lipém
E. SM-Pres-give DEF person REL SM-Pres-like  PRN.c1-REFL respect
Literally: ‘Ewas; respects the man who likes himselfi/;’
Note that D22b’ is correct and the predicate ¢/ /ipem ‘respect’ is discontinuous as expected i.e. it
is always interspersed by an indirect object (note that the predicate ¢/ lipem can literally mean
‘give respect’ so that the English ‘give respect to someone’ is translated as ¢/ mut lipem (give
someone respect’ in Basad. The sentence D22b’ is correct. Note that the pronoun ny&£him’ in
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D22b’ can corefer with the subject ‘Ewas’ and with any other name known in the discourse. See
also coreference in D22b” with the anaphor nyé-medé ‘himself” which can also corefer with the
bracketed relativized NP (co-indexation in the latter case is not fine in fact, but not that it is the
equivalent of the English complex NP ‘the man who like himself” which is co-indexed as ;.
¢) Ira says that the man who likes X is intelligent.
D22d’Ewasi a- 1)- kal 1¢ [i mut nd a- - gweés nyéi/jlka n- yi jdm
E. SM-Pres-say that DEF person REL SM-Pres-like  him SM-Pres-know thing
‘Ewas; says that [the man who likes himjj;]x is intelligent’
D22d’Ewasi a- 1)- kal 1€ [ mut ni a- 1- gwés nys-medsi/jJx
E. SM-Pres-say that DEF person REL SM-Pres-like  PRN.c1-REFL
a n- yi jam
SM-Pres-know thing
‘Ewas; says that [the man who likes himselfj;]k is intelligent’ ANAPHORIC
d) Ira asked whether Bill saw X.
D22d’) Ewas; a- bi- bdt 1€ t33 Kondéj a- bi- téhé nyéi/
E. SM-PST2-ask that whether/if K. SM-PST2-see him
‘Ewas; asked whether Kondé€; saw him/y’
D22d”) Ewas; a- bi- bdt 1€ t3) Kondéj a- bi- téhé nyg-medsi/i/
E. SM-PST2-ask that whether/if K. SM-PST2-see PRN.c1-REFL
‘Ewas; asked whether Kondé€j saw himselfi/j/1» ANAPHORIC
e) Ira asked when Bill saw X.
D22¢’) Ewas; a- bi- bdat 1¢ kélkii Kond€; a- bi- téhé nyéi/
E. SM-PST2-ask that when K. SM-PST2-see him
‘Ewas; asked when Kondé; saw himi/’
D22¢”) Ewas; a- bi- bdt 1¢ kélkii Kondé; a- bi- téhé nys-medéi/i/x
E. SM-PST2-ask that when K. SM-PST2-see PRN.c1-REFL
‘Ewas; asked when Kond€; saw himy/j/x’ ANAPHORIC
NB: Coreference holds between the embedded subject Konds and the anaphor nyé-medé
‘himself” if and only if it is the case that Kondesees himself in the mirror for instance, and under
the assumption that he had never seen himself before in the mirror.
In D22e’’below where the reflexive morpheme is used, coreference holds only between the
embedded subject Konds and the anaphor nyé-medé ‘himself” in case the anaphor is used.
D22¢”) Ewas; a- bi- bat 1¢ kélkii Kondé; a- bi- téé-ba  (nyé-medg;)
E. SM-PST2-ask that when K. SM-PST2-see-REFL PRN.c1-REFL
‘Ewas; asked when Kond¢; saw himy/j/i’
f) Ira did not realize that George followed X.
D22f”) Ewas; a- bi- yi béé 1¢ Kondé a- bi- nonp nyéi/i
E. SM-PST2-know NEG that K. SM-PST2-follow him
‘Ewas; did not know that Kondg; followed himi/\’

g) Ira said that Mary was pretty and that she would marry X.
D22g’) Ewas; a- bi- kal 1€ Mariyaja- ye  nlam,
E. SM-PST2-say that M. SM-be.Pres nice
ni l€ ai/j/x- ga- la bii nyéi/x
and that SM/s/he-FUT2-can marry him
NB: The following interpretations are possible.
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‘Ewas; said that Mary; is nice and that s/hei/j/; will marry himi/j/x’
‘Ewas said that Mary is nice and that she (Mary/another person) will marry him
(Ewas/another person)’
‘Ewas said that Mary is nice and that he (Ewas) will marry her (Mary/another person)’
‘Ewas said that Mary is nice and that another person will marry her/him (Mary/Ewas)’
4.4.5 De se reading
Sometimes an interpretation of identity with an antecedent is tinged by a different
meaning distinction. There is a famous ambiguity in D23 depending on whether or not the
subject of believe is aware that he is referring to himself. The distinction is between two readings
where his=Oedipus, that is, we are not interested, for theses cases, in readings where his is not
Oedipus. Now imagine that Oedipus thinks his step-mother (Step) is his biological mother - he
just calls her "mother", because Step is the only mother he has ever known. Now let us suppose
that Oedipus is the only one in town who is unaware who his biological mother (Bio) is, perhaps
because Bio is a notorious person of whom polite people do not normally speak. People in town,
in spite of what they know, generally refer to Step as Oedipus' mother, since no one wants to
bring up the subject of Bio. Then Bio, long out of town, makes a surprise visit to the town to see
Oedipus, whom she finds scowling in his front yard, angry at Step because she has punished
him.. Bio spends some time with Oedipus, as others watch suspiciously, but Bio does not tell
Oedipus who she is. Oedipus thinks Bio is nice. Then someone says D23a or D23b.

D23a) Oedipus thinks/says his mother is nice.
D23a’) Ewasia- - kal 1€ pani/j (wéi/j) a- ye nldm
E. SM-Pres-say that mother (his) SM-be.Pres nice
‘Ewas; says that hisi/; mother is nice’
Note that since the item pay ‘mother’ conveys inherent possession like any other kinship name
as already mentioned, in the absence of the possessive adjective we" ‘his’ two interpretations are
possible namely ‘Ewas biological mother’ and ‘someone else mother’ although a social reading
might be possible. When the possessive is used, there is no kinship relation (to the best of my
knowledge) between ‘Ewas’ or ‘someone else’ and ‘mother’. The relationship will be based more
on social hierarchy (e.g. Ewas’ boss ) than on kinship. However, it is important to mention that
whether the possessive is dropped or not, the English interpretation of D23a also holds for Basaad.
Globally the dropping of the possessive leads to two readings namely a kinship reading and a
social one. The same thing holds for D23b’ below.
b) Oedipus thinks/says his mother is mean.
D23a’) Ewasja- 1)- kal 1€ pani/j (wWéi/j) a- ye bépa
E. SM-Pres-say that mother (his) SM-be.Pres wicked
‘Ewas; says that hisi/; mother is wicked’

Now his in both examples is to be coconstrued with Oedipus, but his mother in (23a) refers to
Bio, whom he does not know is his mother, while (D23b) refers to Step, who is the only one
Oedipus thinks is his mother (though others know otherwise), and Oedipus is angry at her just
now. In some languages, a different morphological form, a different pronoun for example, is used
to distinguish the two readings. If your language is like English, then there is no morphological
distinction between the pronouns in (D23a,b). Just say so and move on.

No morphological distinction is attested.
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However, other languages have such a morphological distinction (often it is like the
logophoric distinction, discussed above, but not always). For example, Adésola (2004) reports
that Yoruba permits a non-logophoric pronoun (a weak pronoun) to be coconstrued with the
matrix subject, but the logophoric marked one (the strong pronoun) is still distinguished insofar
as it must be de se. The verb meaning 'believe' selects for the logophoric complementizer pé and
the pronouns are distinguished as weak (w) and strong (s).

D24a) Olu gbagb6 pé il¢  re  ti wo.
Olu believe that house he(w) ASP fall
b) Olu gbagb6 pé¢ il¢é oun ti wo.
Olu believe that house he(s) ASP fall
Both: "Olu believes that his house has collapsed."”

As Adésola remarks, "...a strong pronoun [oun] is used when self-reference is intended by the
reported speaker (or believer) [15b], while a weak pronoun [re] is used when the reported
speaker (or believer) does not know that he was in fact referring to his own house [15a]." The
weak pronoun does not have to refer to Olu, but the strong one must.

If there is such a distinction in your language, then translate the examples indicating the
difference in pronouns and we will ask you more about it after we get the questionnaire
responses. If you don't understand what is asked for in this section, skip it or ask for assistance.

PART 5 Final thoughts

5.1 - Having looked at the details of each strategy individually, do you have any general
comments on differences in meaning between the various strategies, conditions that would cause
one or another to be preferred or required, etc.?

Globally, we have examined four strategies in Basad namely the independent pronoun strategy
which involves an accusative pronoun, the reflexive strategy which involves addition of a
specific reflexive morpheme (which varies depending on the verb base) to the verb base
(although some verb are inherently reflexive i.e. they conveys reflexivity even with an implicit
reflexive morpheme),. Also, the reflexive strategy may involve an anaphoric pronoun. The
reciprocal strategy which involves addition of a reciprocal morpheme to the verb base,(the
reciprocal morpheme also varies in form) and the null object strategy. Summarizing, the
independent pronoun strategy, including the anaphoric pronoun and the null object strategy have
been said to be very productive while the reciprocal and reflexive with specific morphemes are
very limited.

5.2 - Are there any properties of the questionnaire that you think could be improved, made more
relevant, or more flexible? Is there any part of the questionnaire that you thought was
unsuccessful at addressing what seems to you an important class of phenomena for our anaphora
project? Please make us aware of any way in which you think we could improve our data
collection.

I suggest investigation be carried out on information structure devices such as topic, focus,
question formation and the like if and only if they appear to be relevant to the project.

Also, any misunderstanding of the date provided should be mentioned so as to provide
appropriate explanations. Some English translations used in the work do not abide with

66



grammaticality, rather, they are used for explanatory reasons.
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